97 R R EIE IR T E MU I 1T D G R R T D

HFESHE
(Ep-4 ) Al 4-1-1
[Step2-1 AE AN EVOREMNLTESTER—BER—1]
M| e | e _ %*@%E?\ﬁ%%%ﬁ
i;;l %I/XH&?E; fé% {(”:n ;)‘ {(”,i;hm“) ﬂég By H T K T
mg/L
# & 3.64 i N.D.
1.0 2.64 i N.D.
2.0 1.64 #R N.D. o
3.0 0.64 EE’S N.D.
4.0 -0.36 EE’S N.D.
Al4 6 |A14-6] 5.0 -1.36 EE7S N.D.
6.0 -2.36 EE:S N.D.
7.0 -3.36 EE:S N.D.
8.0 -4.36 EES N.D.
9.0 -5.36 EES N.D.
10.0 -6.36 EES N.D.
N RAE 0.0002 —
b AL 0.01LL F —
51, &8 &%, #E0.0~0.06m% 7~
2. N.D. L%, E& FRREARNZ 73,
3. &, HEEMERERRL T,
Ew e | e MR EA EWHE
;g? ﬁgﬁffﬁﬁ {a% ?ﬁﬁﬁj 3%% B i F K AR
mg/L
= 2.82 A N.D.
1.0 1.82 iR N.D.
2.0 0.82 A N.D. o
3.0 -0.18 - N.D.
4.0 -1.18 EES N.D.
A15 3 |A153| 5.0 -2.18 HR N.D.
6.0 -3.18 EE'S N.D.
7.0 -4.18 EE’S N.D.
8.0 -5.18 EE’S N.D.
9.0 -6.18 EE:S N.D.
10.0 -7.18 EES N.D.
N R 0.0002
R R ALY 0.01LLF

&1, £Jg L1, #E0.0~0.06m% /~kd,
2.N.D. L%, E& FRRMEARRZR~T,
3. E., HERHEREREEZ TR,



97 R R EIE IR T E MU I 1T D G R R T D

CINESS -
-4 |l 4-1-2
[Step2-1 BE ~UH > OREHNLEAFTHER—KER—2]
= e [, ey =R =
30m | oot ude | e | vRcEE | R T
%¥A[ﬂ@ g | (m) (T.P.m) | X%y .
mg
FB 3.24 #7 N.D.
1.0 2.24 H#R A N.D.
2.0 1.24 EEN N.D.
2.5 0.74 EES N.D. o
3.0 0.24 EES N.D.
B3 = |pas 4.0 -0.76 /S N.D.
5.0 -1.76 EE/S N.D.
6.0 -2.76 EE/S N.D.
7.0 -3.76 EES N.D.
8.0 -4.76 EEAS N.D.
9.0 -5.76 EEAS N.D.
10.0 -6.76 EES N.D.
JE N RAE 0.0002 —
S AL 0.01LL F —
&L KL%, HE0.0~0.05m%Z R,
2. N.D. &%, &8 FRREARNZ =T,
3. I, HEEAHELEERIR A R,
= e s o e e o )
50m ?;gjﬁi% AT | R | TREEER | - @f‘iim%ﬁ R K
%¥~[ﬂg i | (m) (T.P.m) | X%
mg/L
#/E 3.25 8+ N.D.
1.0 2.25 HE A N.D.
2.0 1.25 EE/S N.D.
2.5 0.75 EE/S N.D. ()
3.0 0.25 EES N.D.
B4 A 4.0 -0.75 EES N.D.
5.0 -1.75 EEAS N.D.
6.0 -2.75 /S N.D.
7.0 -3.75 EE/S N.D.
8.0 -4.75 R N.D.
9.0 -5.75 EEAS N.D.
10.0 -6.75 EES N.D.
& T BRAE 0.0002 —
e R 0.01LLF —
51 &g L%, HE0.0~0.05m%Z =<7,

2.N.D. &3, & T IRIEARN 279,
3.

(3. TR EAERE 2R,
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CINESS -
-4 |l 4-1-3
[Step2-1 BE Rt OREHLBEATHER— KR 3]
= e [, ey =R =
30m | oot ude | e | vRcEE | R T
%¥A[ﬂ@ g | (m) (T.P.m) | X%y .
mg
FB 3.21 #7 N.D.
1.0 2.21 H#R A N.D.
2.0 1.21 # 1 N.D.
2.6 0.61 EES N.D. o
3.0 0.21 EES N.D.
B6 R 4.0 -0.79 /S N.D.
5.0 -1.79 EE/S N.D.
6.0 -2.79 EE/S N.D.
7.0 -3.79 EES N.D.
8.0 -4.79 EEAS N.D.
9.0 -5.79 EEAS N.D.
10.0 -6.79 EES N.D.
JE N RAE 0.0002 —
S AL 0.01LL F —
&L KL%, HE0.0~0.05m%Z R,
2. N.D. &%, &8 FRREARNZ =T,
3. I, HEEAHELEERIR A R,
= e s o e e o )
50m ?;gjﬁi% AT | R | TREEER | - @f‘iim%ﬁ R K
%¥~[ﬂg i | (m) (T.P.m) | X%
mg/L
8 3.38 8+ N.D.
1.0 2.38 HE A N.D.
2.0 1.38 iR N.D.
2.5 0.88 H#R A N.D. o
3.0 0.38 R N.D.
B7 S e 4.0 -0.62 EES N.D.
5.0 -1.62 EEAS N.D.
6.0 -2.62 /S N.D.
7.0 -3.62 EE/S N.D.
8.0 -4.62 EEN N.D.
9.0 -5.62 EEAS N.D.
10.0 6.62 EES N.D.
& T BRAE 0.0002 —
e R 0.01LLF —
51 &g L%, HE0.0~0.05m%Z =<7,

2.N.D. &3, & T IRIEARN 279,
3.

(3. TR EAERE 2R,



97 R R EIE IR T E MU I 1T D G R R T D

LAESY
(Ep-4mE) (B 4-1-4
[Step2-1 SAE AVEVORENLESHTERE—ER—4]
S [ e e L R
30m ?%iggi | TREC | REEERE | HuE - @fftim%ﬁ H Tk
¥ 5 i | (m) (T.P. m) X4y
mg/L
% g 3.43 3+ N.D.
1.0 2.43 3+ N.D.
2.0 1.43 bi - ND. |
2.5 0.93 1 |- N.D. o
3.0 0.43 EES N.D.
B3 A . -0.57 EES N.D.
5.0 -1.57 EES N.D.
6.0 -2.57 EES N.D.
7.0 -3.57 EES ND. |
8.0 -4.57 EES N.D.
9.0 -5.57 EES N.D.
10.0 -6.57 EES N.D.
i N RAE 0.0002 —
- HEY H  ALE 0.01LLF —
51, &KE L IE, #E0.0~0.05m% R,
2. N.D. & 1%, E& FREARZ =T,
3. X, TEREHEREREEETRT,
- —_—
som | 2P Vs | v | e | @ffimﬁ T
T 5 [ Hig | (m) (T.P.m) | X%
mg/L
%) 3.46 3+ N.D.
1.0 2.46 3+ N.D.
2.0 1.46 3+ N.D.
2.5 0.96 3+ N.D. o
3.0 0.46 1 |- N.D.
Bo A . -0.54 3+ N.D.
5.0 -1.54 EES N.D.
6.0 -2.54 EES N.D.
7.0 -3.54 EES N.D.
8.0 -4.54 EES N.D.
9.0 -5.54 EES N.D.
10.0 -6.54 EES N.D.
B T BRAE 0.0002 —
bR R L 0.01L4F —

&1, g L 1%, BE0.0~0.05m% "7,
2. N.D. &%, E& FIRERGZR~T,
3.

(T, B R RS 2R,
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eSS
(ap-4pE)  |AlFE 4-1-5
[Step2-1 SAE A EVORENLESHFER—ER—5]
S P o 2 e ST
30m | L Vames | vee | m | s PR
== I i | (m) (T.P.m) | X4
mg/L
%@ 3.52 TEE N.D.
1.0 2.52 1 |- N.D.
2.0 1.52 1 |- N.D.
2.5 1.02 1+ N.D. o
3.0 0.52 1 + N.D.
810l 5 |Bio-sl.d0 -0.48 # + N.D.
5.0 -1.48 i+ N.D.
6.0 -2.48 EES N.D.
7.0 -3.48 H A N.D.
8.0 -4.48 EES N.D.
9.0 -5.48 EES N.D.
10.0 -6.48 EES N.D.
& & T FRAE 0.0002 —
TR R L 0.01LLF —
51, &g LIEL, #E0.0~0.0bm%A R,
2. N.D. &%, & FREARMZ =<7,
3. &, TERHERERERERT,
TN s o A 2 o T
30m | oot | nde | e | vREE | w T
1 I i | (m) (T.P. m) X4y
mg/L
*E 3.55 1 0.0009
1.0 2.55 1 N.D.
2.0 1.55 # + N.D.
2.3 1.25 4 N.D. Y
3.0 0.55 1 4 N.D.
si1l 5 |Bi1slt0 -0.45 1+ N.D.
5.0 -1.45 1 1 N.D.
6.0 -2.45 EES N.D.
7.0 -3.45 EES N.D.
8.0 -4.45 EES N.D.
9.0 -5.45 EES N.D.
10.0 -6.45 EES N.D.
E & T RAE 0.0002 —
g R AL 0.01LL F —

51 £ &l

I, EF0.0~0.05m% 9,
2. N.D. &1t EB FIREREZ R,

3. IE, B EREEIRZ R,
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5 2
-4 |l 4-1-6
[Step2-1 & A2t OFEANLEAH R — KR —6]
B AT
30m ?%fg‘;z% gﬁ% {?EE‘T ﬁ%@% ﬂﬁ/’g’i P WK
¥ - | (m P.m X% me/L
* 8 3.58 # +- N.D.
1.0 2.58 #7 +- N.D.
2.0 1.58 ## 1 N.D. ®
3.0 0.58 # 4- N.D.
4.0 -0.42 #8 1- N.D.
B12 5 |B12-5| 5.0 -1.42 HR N.D.
6.0 -2.42 SRS N.D.
7.0 -3.42 EES N.D.
8.0 -4.42 EE-S N.D.
9.0 -5.42 EES N.D.
10.0 -6.42 EES N.D.
E & T FRAE 0.0002 —
s e AL 0.01LL F —
51, £/8 & X, HE0.0~0.05m% R~
2. N.D. &%, E& FREARmZ~T,
3. IE., HEAEHEREEIR L RT,
- AT R
30m ?%fg‘;z% gﬁ% {?EE‘;F ﬁ%@% ﬂﬁ’% P WO KA
¥ - | (m P.m X% me/L
* 8 4.40 #7 +- N.D.
1.0 3.40 #7 1 N.D.
2.0 2.40 ## 1 N.D.
2.8 1.60 # 4- N.D. ®
3.0 1.40 #8 1- N.D.
B3l 5 |pizslC 0.40 #7 1- N.D.
5.0 -0.60 EEZS N.D.
6.0 -1.60 EE2S N.D.
7.0 -2.60 EE2S N.D.
8.0 -3.60 EES N.D.
9.0 -4.60 EES N.D.
10.0 -5.60 RS N.D.
T RAE 0.0002 —
RS R L 0.01LLF —

fF#51. @ &%, %E0.0~0.05m% 7,
2. N.D. & i3, &8 T REARNZ R,

3. I, bR EAYEREIE 2R,



557 Ia] RS R ETE TR T E S

B D HIRIGYSERFICET 5

HFESHE
-4 mm  |BIAR 4-1-7
[Step2-1 HE A2t > OREHNLRAFHR—KR—T]
- R EA EYE
30m ?%fg‘;z% gﬁ% {?EE‘T ﬁ%@% ﬂﬁ/’g’i P WK
¥ - | (m P.m X% me/L
F B 3.57 HR A N.D.
1.0 2.57 HR A N.D.
2.0 1.57 R A N.D. o
3.0 0.57 A N.D.
4.0 -0.43 H#R N.D.
B14 5 |B14-5| 5.0 -1.43 HR N.D.
6.0 -2.43 PN N.D.
7.0 -3.43 5PN N.D.
8.0 -4.43 EEN N.D.
9.0 -5.43 /S N.D.
10.0 -6.43 EES N.D.
E & T FRAE 0.0002 —
s e AL 0.01LL F —
51 £E L%, HE0.0~0.05m%E /R,
2NDki E & N IREAR 2T,
3. &, HEEHERERRE T,
= —FRF A EYE
30m ?%fg‘;z% gﬁ% {?EE‘;F ﬁ%@% ﬂﬁ’% P WO KA
¥ - | (m P.m X% me/L
F B 3.27 HR A N.D.
1.0 1.45 HE A N.D.
2.0 0.45 R A N.D.
3.0 -0.55 A N.D. o
4.0 -1.55 HR N.D.
B15 5 |B155| 5.0 -2.55 HR N.D.
6.0 -3.55 5PN N.D.
7.0 -4.55 PN N.D.
8.0 -5.55 PN N.D.
9.0 -6.55 /S N.D.
10.0 -7.55 EES N.D.
E & T RAE 0.0002 —
s e AL 0.01LL F —

51, &g & 1X, #E0.0~0.05m% ~7,
2. N.D. &%, E& FIRMEARTZ =T,
3. &, HEEHERERRAE T,
4. FXEIIB15-1afi i HERELL 72,
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UESY
ax-4 @) | 4-1-8
[Step2-1 AE AU EVOREMNLTESMER BR8]
o R A B
30m ﬁgié aﬁf ?%%f %fﬁ%% tW% P WK
¥ - | (m P.m X% me/L
*JE 2.84 1+ N.D.
1.0 1.84 1+ N.D.
2.0 0.84 1+ N.D. )
3.0 -0.16 1+ N.D.
4.0 -1.16 EES N.D.
C4 2 |c4-2| 5.0 -2.16 EES N.D.
6.0 -3.16 EES N.D.
7.0 -4.16 EES N.D.
8.0 -5.16 EES N.D.
9.0 -6.16 EES N.D.
10.0 -7.16 EES N.D.
E & T FRAE 0.0002 —
s e AL 0.01LL F —
H51. FJE L1, HE0.0~0.05m%RT,
2. N.D. &3, E& FIRMERTZ =T,
3. &, TEERHERLERERERT,
o o — R A T
3mn1£§% %E;?%% %??%% ‘ﬂ% P WO KA
¥ - | (m P.m X% me/L
*JE 3.25 1+ N.D.
1.0 2.25 1+ N.D.
2.0 1.25 1+ N.D.
2.3 0.95 1+ N.D. )
3.0 0.25 1+ N.D.
- P P -0.75 EES N.D.
5.0 -1.75 EES N.D.
6.0 -2.75 EES N.D.
7.0 -3.75 EES N.D.
8.0 -4.75 EES N.D.
9.0 -5.75 EES N.D.
10.0 -6.75 EES N.D.
TE & T RAE 0.0002 —
RS R L 0.01LLF —

fF#51. @ &%, %E0.0~0.05m% 7,
2. N.D. & i3, &8 T REARNZ R,
3. k. HERHERERREZ R,
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eSS
(Ep-4mE  |AlEE 4-1-9
[Step2-1 SAE AV EVORENLESHFER—ER—I]
S P o 2 e ST
30m | L Vames | vee | m | s PR
== I i | (m) (T.P.m) | X4
mg/L
%@ 3.63 1+ N.D.
1.0 2.63 1+ N.D.
2.0 1.63 1 |- N.D.
2.3 1.33 1+ N.D. o
3.0 0.63 EES N.D.
o6 I P -0.37 EES N.D.
5.0 -1.37 EES N.D.
6.0 -2.37 EES N.D.
7.0 -3.37 H A N.D.
8.0 -4.37 EES N.D.
9.0 -5.37 EES N.D.
10.0 -6.37 EES N.D.
& & T FRAE 0.0002 —
TR R L 0.01LLF —
51, &g LIEL, #E0.0~0.0bm%A R,
2. N.D. &%, & FREARMZ =<7,
3. &, TERHERERERERT,
TN s o A 2 o T
30m | oot | nde | e | vREE | w T
1 I i | (m) (T.P. m) X4y
mg/L
*E 2.83 1 N.D.
1.0 1.83 1 N.D.
2.0 0.83 # + N.D.
2.8 0.03 4 N.D. Y
3.0 -0.17 1 4 N.D.
o L lopg |40 -1.17 EES N.D.
5.0 -2.17 EES N.D.
6.0 -3.17 EES N.D.
7.0 -4.17 EES N.D.
8.0 -5.17 EES N.D.
9.0 -6.17 EES N.D.
10.0 -7.17 EES N.D.
E & T RAE 0.0002 —
g R AL 0.01LL F —

51, &8 & 1x. #E0.0~0.05m% ~7,
2. N.D. &%, E& FERERMZR~T,

3. IE, B EREEIRZ R,
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HERH
(ap-4mE)  |AlEK 4-1-10
[Step2-1 AE AN EVORENLESMER—ER—10]
kg R EWE
30m ﬁig% aﬁf ?%%f %??gﬁ t@% Py WK
#- - i | (m P.m X7 me/L
¥ )3 2.96 1 4- N.D.
1.0 1.96 #4- N.D.
2.0 0.96 #44- N.D. o
3.0 -0.04 EES N.D.
4.0 -1.04 EES N.D.
C9 5 [C9-5] 5.0 -2.04 EES N.D.
6.0 -3.04 EEN N.D.
7.0 -4.04 EEN N.D.
8.0 -5.04 EEN N.D.
9.0 -6.04 EESS N.D.
10.0 -7.04 EES N.D.
TR E 0.0002 —
b AL 0.01LL F —
51, &g &1L, %#E0.0~0.0bm% R,
2. N.D. &%, @& FRERNZ R~
3. &, HEREHEAEREL T,
som | P s | e | e | e e O .
¥ 7 &gg? Wit | (m (TP m) | x4 «m/g;zL/ HUF K
)3 3.21 £ |- N.D.
1.0 2.21 14 N.D.
2.0 1.21 14 N.D. o
3.0 0.21 EEN N.D.
4.0 -0.79 EEN N.D.
C11 5 |Cl1-5| 5.0 -1.79 HR N.D.
6.0 -2.79 EESS N.D.
7.0 -3.79 EESS N.D.
8.0 -4.79 EE-S N.D.
9.0 -5.79 EE-S N.D.
10.0 -6.79 EES N.D.
B T RE 0.0002 —
R L 0.01LLF —

fEE1. £E L1, HE0.0~0.05m% /~K7,
2. N.D. L%, E& FIRMEARZ~T,
3.

(T, BRI AR T,
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CINESS -
(Ep-4mE AR 4-1- 11
[Step2-1 AE AN EVORENLBESMER—BER—11]
B B EAEDS
ig)? ﬁfgjé% ?{Eﬁ ?%F ﬁ%@j g’% P K
X I o 7 mg/L
# B 3.39 &+ —
B 3.29 R A N.D.
1.0 2.39 3 A N.D.
2.0 1.39 HR A N.D. o
3.0 0.39 EE/S N.D.
013 N 4.0 -0.61 RIS N.D.
5.0 -1.61 EEZS N.D.
6.0 -2.61 EES N.D.
7.0 -3.61 EES N.D.
8.0 -4.61 EE/S N.D.
9.0 -5.61 EE/S N.D.
10.0 -6.61 EES N.D.
E & T FRAE 0.0002 —
R L R L 0.01LLF —
51, &g LIEL, #E0.0~0.0bm%A R,
2. N.D. &%, &8 FRERMNZ =T,
3. I, hEEAEH EILERIR AR,
4. B ORBIZCI3- 1AM BRI LT,
S MR EAEWE
;g? ﬁﬁ;&d‘;é iﬁ% {?%F ﬁ%ﬁj g’% By A
X I o 7 mg/L
F B 2.80 &+ —
1.0 1.80 HE A N.D.
2.0 0.80 R A N.D. o
3.0 -0.20 A N.D.
4.0 -1.20 iR N.D.
C15 5 |C155| 5.0 -2.20 B8R N.D.
6.0 -3.20 EE/S N.D.
7.0 -4.20 EES N.D.
8.0 -5.20 PN N.D.
9.0 -6.20 PN N.D.
10.0 -7.20 EES N.D.
E & T RAE 0.0002 —
g R AL 0.01LL F —

51 £ &l

%, REE0.0~0.05m%E R,
2.N.D. &0, EE T IRIERN 279,
3. IE, B EREEIRZ R,
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UESY
(Ep-4 ) |AlHE 4-1-12
[Step2-1 AE AN EVORENLESMER—ER—12]
= R E A T
30m éﬁ@% aﬁf ?%%f %f?gﬁ t@% Py WO F KA
#- - i | (m P.m X7 me/L
*E 3.46 1+ N.D.
1.0 2.46 1+ N.D.
2.0 1.46 1+ N.D. )
3.0 0.46 1+ N.D.
4.0 -0.54 1+ N.D.
D3 5 |D3-5| 5.0 -1.54 1+ N.D.
6.0 -2.54 1+ N.D.
7.0 -3.54 1 - N.D.
8.0 -4.54 1+ N.D.
9.0 -5.54 1+ N.D.
10.0 -6.54 EES N.D.
E & T RAE 0.0002 —
b AL 0.01LL F —
&L KL%, HE0.0~0.05m%Z R,
2. N.D. &%, E& FIREARTNZ =T,
3. &, HEREHEAEREL T,
= L MR EREWE
oom ﬁigg i i%%f %??ﬁﬁ N Ny P
F+ I [ Hi s m P.m X753 mg/L
*JE 3.87 1+ N.D.
1.0 2.87 1+ N.D.
2.0 1.87 1+ N.D. )
3.0 0.87 1 - 0.0003
4.0 -0.13 1 - N.D.
D4 3 |D4-3| 5.0 -1.13 1+ N.D.
6.0 -2.13 1+ 0.0002
7.0 -3.13 1+ N.D.
8.0 -4.13 EES N.D.
9.0 -5.13 EES N.D.
10.0 -6.13 EES N.D.
BT R 0.0002 —
IRV R R YE 0.01LLF —

fEE1. £E L1, HE0.0~0.05m% /~K7,
2. N.D. L%, E& FIRMEARZ~T,
3. k. HERHERERRE T,
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ChESS
(ap-4 ) |AlFE 4-1-13
[Step2-1 HE <> OREHNLBEAFHR—KR—13]
St & —FEE A Y
30m ﬁig% aﬁf ?%%f %??gﬁ t@% Py WK
#- - i | (m P.m X7 me/L
#/E 3.22 #8 1- N.D.
1.0 2.22 #7 1- N.D.
2.0 1.22 # 1 N.D. o
3.0 0.22 # 1 N.D.
4.0 -0.78 #7 1 N.D.
D5 8 |D5-8| 5.0 -1.78 SRS N.D.
6.0 -2.78 EEAS N.D.
7.0 -3.78 EES N.D.
8.0 -4.78 S N.D.
9.0 -5.78 /S N.D.
10.0 -6.78 EES N.D.
E & T RAE 0.0002 —
b AL 0.01LL F —
&L KL%, HE0.0~0.05m%Z R,
2. N.D. &%, & & FIRIEARN 2 7R~7,
3. %, HEEAEHELMERIR A R,
= L MR EREWE
som ﬁigg [ ?%%f %??ﬁﬁ s N A
¥+ I [ Hi s m P.m X753 mg/L
* 3 2.96 # 1 N.D.
1.0 1.96 # 1 N.D.
2.0 0.96 ## 1 N.D. o
3.0 -0.04 EEAS N.D.
4.0 -1.04 S N.D.
D7 5 |D7-5| 5.0 -2.04 /S N.D.
6.0 -3.04 /S N.D.
7.0 -4.04 EE/S N.D.
8.0 -5.04 EES N.D.
9.0 -6.04 EES N.D.
10.0 -7.04 EES N.D.
E & FRRE 0.0002 —
IRV R R YE 0.01LLF —

fEE1. £E L1, HE0.0~0.05m% /~K7,
2. N.D. L%, E& FIRMEARZ~T,
3.

(T, BRI AR T,
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CIRESY
(Ep-4mE)  |BlEK 4-1- 14
[Step2-1 AE AN EVORENLTESMER—ER—14]
kg R EWE
30m ﬁig% aﬁf ?%%f %??gﬁ t@% Py WK
#- - i | (m P.m X7 me/L
*)3 3.01 14 4 N.D.
1.0 2.01 14 N.D.
2.0 1.01 #44- N.D. o
3.0 0.01 $44- N.D.
4.0 -0.99 EE-S N.D.
D8 5 |D85| 5.0 -1.99 EE-S N.D.
6.0 -2.99 EEN N.D.
7.0 -3.99 EEN N.D.
8.0 -4.99 EEN N.D.
9.0 -5.99 EESS N.D.
10.0 -6.99 EES N.D.
E & T RAE 0.0002 —
b AL 0.01LL F —
&L KL%, HE0.0~0.05m%Z R,
2. N.D. &, & FIREARNZ 7R,
3. &, HEREHEAEREL T,
= L MR EREWE
som ﬁigg [ ?%%f %??ﬁﬁ s N A
F+ I [ Hi s m P.m X753 mg/L
)3 3.11 £ |- N.D.
1.0 2.11 14 N.D.
2.0 1.11 14 N.D. o
3.0 0.11 EEN N.D.
4.0 -0.89 EEN N.D.
D9 5 |D9-5| 5.0 -1.89 EESS N.D.
6.0 -2.89 EESS N.D.
7.0 -3.89 EESS N.D.
8.0 -4.89 EES N.D.
9.0 -5.89 EES N.D.
10.0 -6.89 EES N.D.
B T RE 0.0002 —
IRV R R YE 0.01LLF —

fEE1. £E L1, HE0.0~0.05m% /~K7,
2. N.D. L%, E& FIRMEARZ~T,
3.

(T, BRI AR T,
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CIRESY
(ap-4 ) |AllFE 4-1-15
[Step2-1 AE AN EVORENLBESMFER—ER—15]
St R EWE
30m ﬁig% aﬁf ?%%f %??gﬁ t@% Py WK
#- - i | (m P.m X7 me/L
*)3 3.10 14 4 N.D.
1.0 2.10 14 N.D.
2.0 1.10 #44- N.D. o
3.0 0.10 EES N.D.
4.0 -0.90 EE-S N.D.
D10 5 |D10-5| 5.0 -1.90 EEZS N.D.
6.0 -2.90 EEN N.D.
7.0 -3.90 EEN N.D.
8.0 -4.90 EEN N.D.
9.0 -5.90 EESS N.D.
10.0 -6.90 EES N.D.
TR E 0.0002 —
b AL 0.01LL F —
51, &g &1L, %#E0.0~0.0bm% R,
2. N.D. &%, &8 FRREA &R,
3. &, HEREHEAEREL T,
som | P s | e | e | e e O .
¥ 7 &gg? Wit | (m (TP m) | x4 «m/g;zL/ HUF K
)3 3.28 11 N.D.
1.0 2.28 #4- N.D.
2.0 1.28 #4- N.D. o
3.0 0.28 EEN N.D.
4.0 -0.72 EEN N.D.
D11 5 |D11-5| 5.0 -1.72 HR N.D.
6.0 -2.72 EESS N.D.
7.0 -3.72 EESS N.D.
8.0 -4.72 EE-S N.D.
9.0 -5.72 EE-S N.D.
10.0 -6.72 EES N.D.
B T RE 0.0002
R L 0.01LLF

fEE1. £E L1, HE0.0~0.05m% /~K7,
2. N.D. L%, E& FIRMEARZ~T,
3.

(T, BRI AR T,



97 R R EIE IR T E MU I 1T D G R R T D

CIRESY
(Ep-4 ) |AlEE 4-1-16
[Step2-1 AE AN EVORENLESMER—ER—16]
St R EWE
30m ﬁig% aﬁf ?%%f %??gﬁ t@% Py WK
#- - i | (m P.m X7 me/L
*)3 3.23 14 4 N.D.
1.0 2.23 14 N.D.
2.0 1.23 #44- N.D. o
3.0 0.23 EES N.D.
4.0 -0.77 EE-S N.D.
D12 5 |Di12-5| 5.0 -1.77 EEZS N.D.
6.0 -2.77 EEN N.D.
7.0 -3.77 EEN N.D.
8.0 -4.77 EEN N.D.
9.0 -5.77 EESS N.D.
10.0 -6.77 EES N.D.
TR E 0.0002 —
b AL 0.01LL F —
51, &g &1L, %#E0.0~0.0bm% R,
2. N.D. &%, &8 FRREA &R,
3. &, HEREHEAEREL T,
som | P s | e | e | e e O .
¥ 7 &gg? Wit | (m (TP m) | x4 «m/g;zL/ HUF K
)3 3.26 et -
1.0 2.26 #4- N.D.
2.0 1.26 #4- N.D. o
3.0 0.26 EEN N.D.
4.0 -0.74 EEN N.D.
D13 5 |D13-5| 5.0 -1.74 HR N.D.
6.0 -2.74 EESS N.D.
7.0 -3.74 EESS N.D.
8.0 -4.74 EE-S N.D.
9.0 -5.74 EE-S N.D.
10.0 -6.74 EES N.D.
B T RE 0.0002 —
R L 0.01LLF —

fEE1. £E L1, HE0.0~0.05m% /~K7,
2. N.D. L%, E& FIRMEARZ~T,
3.

(T, BRI AR T,
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B F 5
(E-4mE)  |BIRK 4-1-17
[Step2-1 8ZE RUEVOREMNLESHER—BER—17]
o A
%’? ;;%Z; iﬁ% {?Bf ﬁ%@ﬁ ﬂé/@i e AT
ST e o > mg/L
EE 3.30 &t —
1.0 2.30 |- N.D.
2.0 1.30 1 4- N.D.
2.5 0.80 - N.D. S
3.0 0.30 1 |- N.D.
pial 5 lpiasl 40 -0.70 EPS N.D.
5.0 -1.70 B4 N.D.
6.0 -2.70 B4 N.D.
7.0 -3.70 S N.D.
8.0 -4.70 ZPS N.D.
9.0 -5.70 EPS N.D.
10.0 -6.70 S N.D.
TE & T RAE 0.0002 —
e L 0.01LLF —
fif51. &8 L%, HE0.0~0.05m%= =<7,
2. N.D. & i3, E& FREARMZ =T,
3. Ik, LERHEREREIEE R,
o R T
;g);n BTZ%J‘;% iﬁ% {?%F ﬁ%ﬂfgj g’% Py A
EST R o 7 me/L,
Y 2.64 &t —
1.0 1.64 1 - N.D.
2.0 0.64 - N.D. P
3.0 -0.36 | #t N.D.
4.0 136 | #+ N.D.
D15 5 |D15-5| 5.0 2.36 EE7S N.D.
6.0 -3.36 B4 N.D.
7.0 -4.36 S N.D.
8.0 -5.36 ZPS N.D.
9.0 -6.36 EPS N.D.
10.0 7.36 5 N.D.
TE & T RAE 0.0002 —
- HEA L 0.01LLF —

fF#51. @ &%, %E0.0~0.05m% 7,
2.
3.

N.D. &3, E& T IRMEAR 2R,
3. HEEE R ERE AR,



97 R R EIE IR T E MU I 1T D G R R T D

UESY
(Ep-4pE)  |BllFE 4-1-18
[Step2-1 BAE ANUEVOREMNLESHER—ER—18]
B R T
S0m ﬁfgjé% W ff% ﬁ%@ﬁj A NP K
¥ X i | (m P.m X5 me/L
*JE 3.64 1+ N.D.
1.0 2.64 1+ N.D.
2.0 1.64 1+ N.D.
2.5 1.14 1 - N.D. o
3.0 0.64 1+ N.D.
- I -0.36 1+ N.D.
5.0 -1.36 1+ N.D.
6.0 -2.36 1 - N.D.
7.0 -3.36 1 - N.D.
8.0 -4.36 1+ N.D.
9.0 -5.36 EES N.D.
10.0 -6.36 EES N.D.
TR AE 0.0002 —
TR R L 0.01LLF —
51, &g LIEL, #E0.0~0.0bm%A R,
2. N.D. &3, && FIRMEART A2 =T,
3. &, TERHERERERERT,
Sl BT AEWE
S0m ?;TE;% e {?EE‘;F ‘*ﬁ%‘?ﬁ i/ IR A KT R
s+ X [ M| (m P.m X5 mg/L
* )& 3.24 1+ N.D.
1.0 2.24 1+ N.D.
2.0 1.24 1+ 0.0003
2.5 0.74 1+ N.D. )
3.0 0.24 1 - N.D.
4 I -0.76 1+ N.D.
5.0 -1.76 1+ N.D.
6.0 -2.76 1+ N.D.
7.0 -3.76 1+ N.D.
8.0 -4.76 EES N.D.
9.0 -5.76 EES N.D.
10.0 -6.76 EES N.D.
E & T RAE 0.0002 —
g R AL 0.01LL F —

&1 &g &3,

TRE£0.0~0.05m% 7~
2. N.D. &3, @8 T RIEARG &2 78T
3.

(3, R AR 2R,
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LILESY
(E-1m® AR 4-1-19
[Step2-1 HE ¥ > OREH LEHHER—KR—19]
o A
%’? ;;%Z; iﬁ% {?Bf ﬁ%@ﬁ ﬂé/@i e AT
ST e o > mg/L
£ig | 3.27 Wt N.D.
1.0 2.27 st N.D.
2.0 1.27 it N.D.
2.5 0.77 2+ N.D. °
3.0 0.27 it N.D.
ws | 5 lgssl 20 073 | #mt N.D.
5.0 173 | st N.D.
6.0 -2.73 | #t N.D.
7.0 -3.73 | #t N.D.
8.0 473 | #t N.D.
9.0 -5.73 | A N.D.
100 | -673 | A% N.D.
E N FRAE 0.0002 —
R AL 0.01LLF —
5L, #JE &1, HE0.0~0.05m% <,
2. N.D. &%, E& FRIERNZ 7T,
3. &, HEEHERERRE T,
e B A T
;g);n BTZ%J‘;% iﬁ% {?%F ﬁ%ﬂfgj g’% Py A
i | B 7 mg/L
£jF | 3.86 Mt N.D.
1.0 2.86 it N.D.
2.0 1.86 2+ N.D.
3.0 0.86 24 N.D. Y
4.0 014 | Mt N.D.
E6 | 5 |E65| 5.0 1.14 | s+ N.D.
6.0 214 | # T N.D.
7.0 -3.14 | mt N.D.
8.0 414 | HA N.D.
9.0 514 | AR N.D.
10.0 614 | A% N.D.
E T FRAE 0.0002 —
R AL 0.01LLF

fF#51. @ &%, %E0.0~0.05m% 7,
2. N.D. & i3, &8 T REARNZ R,
3.

3. HEEE R ERE AR,




557 Ia] RS R ETE TR T E S

B D HIRIGYSERFICET 5

HERH
(ap-4 ) |AlEK 4-1- 20
[Step2-1 AE ANUEVORENLESMER—ER—20]
I A B
30m ?%fg‘;z% gﬁ% {?EE‘T ﬁ%@% ﬂﬁ/’g’i P WK
¥ - | (m P.m X% me/L
# )@ 3.12 #44- N.D.
1.0 2.12 $44- N.D.
2.0 1.12 14 N.D. o
3.0 0.12 1+ N.D.
4.0 -0.88 1 4- N.D.
E7 5 |E7-5| 5.0 -1.88 #44- N.D.
6.0 -2.88 $4- N.D.
7.0 -3.88 EES N.D.
8.0 -4.88 EES N.D.
9.0 -5.88 EES N.D.
10.0 -6.88 EES N.D.
E & T FRAE 0.0002 —
s e AL 0.01LL F —
551, 8 &1, HEE0.0~0.05m% =7,
2NDki E & N IREAR 2T,
3. X, TEOAMEREREE RS,
= — TR ER EWE
30m ?%fg‘;z% iﬂf {?EE‘;F ﬁ%@% ﬂﬁ’% P WO KA
¥ I 5| (m P.m X% me/L
)@ 3.14 #4 1 N.D.
1.0 2.21 141 N.D.
2.0 1.21 11 N.D. o
3.0 0.21 1+ N.D.
4.0 -0.79 EES N.D.
E9 5 |E9-5| 5.0 -1.79 EES N.D.
6.0 -2.79 EES N.D.
7.0 -3.79 EES N.D.
8.0 -4.79 EES N.D.
9.0 -5.79 EES N.D.
10.0 -6.79 EES N.D.
E & T RAE 0.0002 —
g AL 0.01LLF —

51, &g & 1X, #E0.0~0.05m% ~7,
2. N.D. &%, E& FIRMEARTZ =T,
3. X, TEEAMEEREREE RS,
4. KEIZE9-1H S HEEL L=,
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CINESS -
(ap-4mE B 4-1- 21
[Step2-1 BAE ANUEVOREMNLESHER—ER-—21]
U P o e e o O
& % i 5| (m) (T.P.m) | X%y
mg/L
* % 3.35 # 4 N.D.
1.0 2.35 #1 4 N.D.
2.0 1.35 HE A N.D.
2.5 0.85 HE N.D. o
3.0 0.35 e N.D.
B11 S . 4.0 -0.65 EE:S N.D.
5.0 -1.65 EES N.D.
6.0 -2.65 EES N.D.
7.0 -3.65 EE/S N.D.
8.0 -4.65 EE’S N.D.
9.0 -5.65 EE/S N.D.
10.0 -6.65 EES N.D.
T i T BRAE 0.0002 —
TS AL 0.01LL F —
51 & & 1X, %E0.0~0.05m% /R T,
2. N.D. &%, E& FRERWZ =T,
3. X, LEEAHELUERIR AR,
= [ o e e e T
30m ﬁii;;g? ks R PRICER Heje - @ffﬂzim%ﬁ Ho oK
%¥~[ﬂ@ S| (m) (T.P.m) | X%
mg/L
#E 3.51 &+ N.D.
0.5 3.01 &+ N.D.
1.0 2.51 &+ N.D.
2.0 1.51 #1 4 N.D.
2.5 1.01 HE A N.D. ®
3.0 0.51 IS N.D.
E13 5 |E13-5| 4.0 -0.49 RS N.D.
5.0 -1.49 EE:S N.D.
6.0 -2.49 EE:S N.D.
7.0 -3.49 EES N.D.
8.0 -4.49 EE/S N.D.
9.0 -5.49 EE/S N.D.
10.0 -6.49 EES N.D.
E T BRAE 0.0002 —
TS = AL 0.01LL F —

&1 R &,

ZEFE0.0~0.05m% 7R9,
2. N.D. &%, E& FIRERMZ7RT,
3.

(3. B R AR 2R,
4. 0%, STEPIHAEDH R Z 7R,
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B F 28
(Ep-4 ) |BllEE 4-1- 22
[Step2-1 AE AN EVORENLESMER—ER—22]
o o R T
3%1é§§ %ﬁ %% %E%% ‘ﬂ% P WK
T I g | (m T.P.m) | X4%) mg/LL
*JE 2.65 %t —
1.0 1.65 $44- N.D.
2.0 0.65 14 N.D. )
3.0 -0.35 1+ N.D.
4.0 -1.35 1 4- N.D.
E15 5 |E15-5| 5.0 -2.35 HR N.D.
6.0 -3.35 EES N.D.
7.0 -4.35 EES N.D.
8.0 -5.35 EES N.D.
9.0 -6.35 EES N.D.
10.0 -7.35 EES N.D.
E & T FRAE 0.0002 —
s e AL 0.01LL F —
51, 8 &3, HE£0.0~0.05m% 7R,
2. N.D. &3, E& FIRMERTZ =T,
3. &, TEERHERLERERERT,
o R T
30m ﬁgié aﬁf ?%%f %f?%% t@% P WO KA
¥ - | (m P.m X% me/L
)@ 3.75 #4 1 0.0002
1.0 2.75 141 N.D.
2.0 1.75 11 N.D.
2.5 1.25 1+ N.D. )
3.0 0.75 1 4- N.D.
- 5 |pasal k0 -0.25 #4 1 0.0003
5.0 -1.25 $44- 0.0003
6.0 -2.25 14 N.D.
7.0 -3.25 1+ N.D.
8.0 -4.25 #14- N.D.
9.0 -5.25 EES N.D.
10.0 -6.25 EES N.D.
TE & T RAE 0.0002 —
RS R L 0.01LLF —

fF#51. @ &%, %E0.0~0.05m% 7,
2. N.D. & i3, &8 T REARNZ R,
3. k. HERHERERREZ R,



97 R R EIE IR T E MU I 1T D G R R T D

CINESS -
(ap-4 ) |BllHE 4-1- 23
[Step2-1 BAE ANUEVOREMNLESHER—ER—23]
U P o e e o O
& % i 5| (m) (T.P.m) | X%y
mg/L
* % 3.72 &+ —
1.0 2.72 &+ —
2.0 1.72 HE A N.D.
2.5 1.22 HE 0.0002 )
3.0 0.72 i+ N.D.
- = |pss 4.0 -0.28 H 4 N.D.
5.0 -1.28 # 4 N.D.
6.0 -2.28 #14 N.D.
7.0 -3.28 #1 4 N.D.
8.0 -4.28 #1 4 N.D.
9.0 -5.28 EE/S N.D.
10.0 -6.28 EES N.D.
T i T BRAE 0.0002 —
TS AL 0.01LL F —
51 & & 1X, %E0.0~0.05m% /R T,
2. N.D. &%, E& FRERWZ =T,
3. X, LEEAHELUERIR AR,
= [ o e e e T
30m it%i;;;? | IREC | URIEERE | M - %fifj%ﬁ Hi T K A
%¥~[ﬂ@ S| (m) (T.P.m) | X%
mg/L
#J8 3.88 &+ N.D.
0.5 3.38 &+ N.D.
1.0 2.88 &+ N.D.
2.0 1.88 #1 4 6.3
2.5 1.38 HE A 0.0048 ®
3.0 0.88 IS 0.0022
F6 5 |F6-5| 4.0 -0.12 RS 0.0004
5.0 -1.12 i 1 N.D.
6.0 -2.12 H 4 N.D.
7.0 -3.12 H 4 0.0002
8.0 -4.12 EE/S N.D.
9.0 -5.12 EE/S 0.0003
10.0 -6.12 EES N.D.
E T BRAE 0.0002 —
TS = AL 0.01LL F —

&1 R &,

3. IE, B ENERIRE 2R,
4. 0%, STEPIHAEDH R Z 7R,

ZEFE0.0~0.05m% 7R9,
2. N.D. &%, E& FIRERMZ7RT,



97 SRR EIE IR T EHIC ST D TG Y RS I T S

HE A
-4 E AR 4-1-24
[Step2-1 AE AN EVORENLESMER—ER—24]
=g P o e b R
30m | SoNL mte | e | e | w e TR
Ll o g | (m) (T.P.m) | X%y
mg/L
¥ )3 3.07 %+ N.D.
0.5 2.57 %t N.D.
1.0 2.07 %+ N.D.
2.0 1.07 $f N.D. o
3.0 0.07 $f N.D.
- e -0.93 #84- N.D.
5.0 -1.93 8 4- N.D.
6.0 -2.93 8 4 N.D.
7.0 -3.93 #84 N.D.
8.0 -4.93 #81- N.D.
9.0 -5.93 EES N.D.
10.0 -6.93 EES N.D.
& T BRAE 0.0002 —
TS AL 0.01LL F —
51, &8 &1, F£0.0~0.05m% /~7,
2. N.D. &%, E& FRERWZ =T,
3. X, THEEAMEEERRE RS,
4. 01X, STEP1HAEDHRERZ T,
=g s i e e o TR
som | 2L mte | e | e | w e s
T 5 g | (m) (T.P.m) | X%
mg/L
*/3 3.14 %+ N.D.
0.5 2.64 %t N.D.
1.0 2.14 %t N.D.
2.0 1.14 #84 N.D. o
3.0 0.14 $ 1 N.D.
- 6 |rggltO -0.86 $f N.D.
5.0 -1.86 1 - N.D.
6.0 -2.86 8 4 N.D.
7.0 -3.86 8 4 N.D.
8.0 -4.86 EES N.D.
9.0 -5.86 EES N.D.
10.0 -6.86 EES N.D.
e N RAE 0.0002 —
TS = AL 0.01LL F —

&1 R &,

ZEFE0.0~0.05m% 7R9,
2. N.D. &%, E& FIRERMZ7RT,
3.

. HEEHEEERE AR,
4. 1%, STEPIAREOK R E2RT,
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LB
(ap-4 ) |AllEE 4-1- 25
[Step2-1 BAE ANUEVOREMNLESHER—ER—25]
S B—HEREAEDE
%ﬁ%ﬁgyé ﬁﬁ;iﬁ% ?f?%ﬁ '%% B A
ST e o 7 me/L
*£JE 3.25 L —
1.0 2.25 3 - N.D.
2.0 1.25 1+ N.D. Y
3.0 0.25 EES N.D.
4.0 -0.75 EES N.D.
F9 4 |F9-4| 5.0 -1.75 EES N.D.
6.0 -2.75 EES N.D.
7.0 -3.75 EES N.D.
8.0 -4.75 EES N.D.
9.0 -5.75 EES N.D.
10.0 -6.75 EES N.D.
i B FRME 0.0002 —
TR R LT 0.01LL F —
51, #£J@ &%, HWE0.0~0.05m% R~
2. N.D. & i3, & FREARRMZ =<7,
3. X, TERHERERRERT,
= BT EYE
%ﬁfﬁgyé ﬁﬁgiﬁ% %f?%? g% NPy HUT K
| o 7 me/L
*JE 3.33 3+ N.D.
1.0 2.35 1 - N.D.
2.0 1.35 1+ N.D.
2.5 0.85 1+ N.D. Y
3.0 0.35 1+ N.D.
4.0 -0.65 EES N.D.
Fl0| 5 |F105
5.0 -1.65 EES N.D.
6.0 -2.65 EES N.D.
7.0 -3.65 EES N.D.
8.0 -4.65 EES N.D.
9.0 -5.65 EES N.D.
10.0 -6.65 EES N.D.
JE BN RAE 0.0002 —
e R 0.01LLF —

51, &g LI, %E0.0~0.05m% /R,
2. N.D. &%, E& FRERMHEZ =T,
3. I, HEEHEAEEEE ST,
4. KJFIIF10-THLE O HEE L 72,
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CINESS -
(Ep-4 ) |BllHEE 4-1- 26
[Step2-1 AE AN EVORENLESMER—ER—26]
=g HTERTEAEWE
S0m | g | | RIE | R | s —
X o o 7 mg/L
8 3.44 gt N.D.
0.5 2.94 &+ N.D.
FJE 3.35 # 1 N.D.
1.0 2.44 # 4 0.14
2.0 1.44 # 1 N.D.
2.5 0.94 #7 +- N.D. ®
P11 N P I 2 0.44 EES N.D.
4.0 -0.56 /S N.D.
5.0 -1.56 /S N.D.
6.0 -2.56 EE/S N.D.
7.0 -3.56 SN N.D.
8.0 -4.56 /S N.D.
9.0 -5.56 /S N.D.
10.0 -6.56 EES N.D.
E T RAE 0.0002 —
R R R 0.01LLF —
51, &8 L1, %E0.0~0.05m% ~d,
2. N.D. &%, & FRRMEARm AR,
3. I, A EILERER AR,
4. 0%, HOEBERBOFEOR R4 ~T (E& FRME : 0.001mg/L) .
5. Ml LOFREIIF11-4M 57 HEREL L 7=,
=gn o HFERREAEWE
?g;l ﬁfg;i i@% {fj ﬁ%@f}’ ﬂé);%’ NPy H TR
X " o 7 mg/L
*E 3.53 gt N.D.
0.5 3.03 gt N.D.
1.0 2.53 gt N.D.
2.0 1.53 3+ N.D.
2.5 1.03 # 1 N.D. o
3.0 0.53 # 1 N.D.
F12 5 |F12-5| 4.0 -0.47 #7 1 N.D.
5.0 -1.47 B N.D
6.0 -2.47 P/ N.D.
7.0 -3.47 ER N.D.
8.0 -4.47 SN N.D
9.0 -5.47 SN N.D.
10.0 -6.47 EES N.D.
E TR 0.0002 —
IR R LR 0.01LLF —

&1 g L%, ®E0.0~0.05m% R,

2.N.D. &%, E& FIRERMEZRT,
O e = e B B N
4. X, STEP1IHEDOHKERZRT,

3.
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ChESS
-4 ® AR 4-1- 27
[Step2-1 AE ¥ OREHNLEAHHRE—KR—27]
e P ———————
30m ?giz% AL | ORI TREEERE | - @ffj/mq%g Hi T K
&1 I i i | (m) (T.P.m) | X%
mg/L
8 3.66 gt —
1.0 2.66 &t —
2.0 1.66 # N.D.
2.5 1.16 # - N.D. ()
3.0 0.66 HE A N.D.
P13 O O -0.34 #i7 1 N.D.
5.0 -1.34 EE:S N.D.
6.0 -2.34 EES N.D.
7.0 -3.34 EE/S N.D.
8.0 -4.34 EE:S N.D.
9.0 -5.34 EE:S N.D.
10.0 -6.34 EES N.D.
i BT BRAE 0.0002 —
bR R 0.01LLF —
&1 &g L%, HE0.0~0.05mER~T,
2. N.D. L%, E& FIRERZR~T,
3. X, A ELEERIR A R,
=g =, e e e 1 TR
30m | ool \oute | e | e | R e T
¥ 5 Hi | (m) (T.P. m) X4y
mg/L
*E 3.65 At N.D.
0.5 3.15 gt N.D.
1.0 2.65 i+ N.D.
2.0 1.65 iR N.D.
2.5 1.15 HA - N.D. ()
3.0 0.65 #i +- N.D.
F14 5 |F14-5| 4.0 -0.35 ## 1 N.D.
5.0 -1.35 EE:S N.D.
6.0 -2.35 EE/S N.D.
7.0 -3.35 EE/S N.D.
8.0 -4.35 EE:S N.D.
9.0 -5.35 EE:S N.D.
10.0 -6.35 EES N.D.
i N RAE 0.0002 —
T R 0.01LLF —

(FER N =R E W

ZEFE0.0~0.05m% =9,
2. N.D. &%, E& FIRERMWZ7R~T,

3. IF. A EAYERE 2R,

4. ONF, HDEHPERBOMAEOR Rz ~d (2R FIRE : 0.001mg/L) .
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UESY
(&p-4 %) |AllHE 4-1- 28
[Step2-1 AE AN EVORENLESMER—ER—28]
o R A B
30m ?%fg‘;z% gﬁ% {?EE‘T ﬁ%@% ﬂﬁ/’g’i P WK
¥ - | (m P.m X% me/L
*JE 2.35 %1 —
1.0 1.35 1+ N.D.
2.0 0.35 1+ N.D. )
3.0 -0.65 1+ N.D.
4.0 -1.65 1+ N.D.
Fi5| 5 |F155| 5.0 -2.65 EES N.D.
6.0 -3.65 EES N.D.
7.0 -4.65 EES N.D.
8.0 -5.65 EES N.D.
9.0 -6.65 EES N.D.
10.0 -7.65 EES N.D.
E & T FRAE 0.0002 —
s e AL 0.01LL F —
H51. FJE L1, HE0.0~0.05m%RT,
2. N.D. &3, E& FIRMERTZ =T,
3. &, TEERHERLERERERT,
o o — R A T
30m ?%fg‘;z% gﬁ% {?EE‘;F ﬁ%@% ﬂﬁ’% P WO KA
¥ - | (m P.m X% me/L
*JE 4.02 1+ N.D.
1.0 3.02 1+ N.D.
2.0 2.02 1+ N.D.
3.0 1.02 1+ N.D.
3.5 0.52 1+ N.D. Y
as s lao-al 40 0.02 1+ N.D.
5.0 -0.98 1+ N.D.
6.0 -1.98 1+ N.D.
7.0 -2.98 1+ N.D.
8.0 -3.98 1+ N.D.
9.0 -4.98 EES N.D.
10.0 -5.98 EES N.D.
TE & T RAE 0.0002 —
RS R L 0.01LLF —

fF#51. @ &%, %E0.0~0.05m% 7,
2. N.D. & i3, &8 T REARNZ R,

3. I, bR EAYEREIE 2R,



97 R R EIE IR T E MU I 1T D G R R T D

CINESS -
(ap-4 ) |AlEE 4-1- 29
[Step2-1 AE AN EVOREMNLESMER—ER—29]
o P —————
50m %E% AHTE | R TREEER | - %ﬁiff%ﬁ R K
¥+ % S| (m) (T.P.m) | X%
mg/L
#E 2.74 #4 N.D.
1.0 2.48 &+ —
2.0 1.48 #1 4 N.D.
2.5 0.98 #1 4 N.D. o
3.0 0.48 HR N.D.
a3 S P 4.0 -0.52 HE A N.D.
5.0 -1.52 1 N.D.
6.0 -2.52 H 4 N.D.
7.0 -3.52 #1 4 N.D.
8.0 -4.52 # 4 N.D.
9.0 -5.52 EE/S N.D.
10.0 -6.52 EES N.D.
E T BRAE 0.0002 —
T = AL 0.01LL F —
51, &8 & 1X, %E0.0~0.06m%E /R,
2. N.D. &%, && FRERWZ T,
3. X, A ELEERIR A R,
4. KIBITG3-2H 50 HEREL L 72,
o T ——————
30m T;:E;:% ks WX PR Heje - @f/mﬁf/m%g Ho oK i T
%¥~[ﬂ@ S| (m) (T.P.m) | X4
mg/L
*B 4.09 &+ N.D.
0.5 3.59 &+ N.D.
1.0 3.09 &+ 0.0006
2.0 2.09 &+ 0.0006
3.0 1.09 #1 4 0.070 [ )
s = lass 4.0 0.09 # 4 0.0055
5.0 -0.91 #i 1 N.D.
6.0 -1.91 i 1 N.D.
7.0 -2.91 #4 N.D.
8.0 -3.91 #1 4 N.D.
9.0 -4.91 #1 4 N.D.
10.0 -5.91 EES N.D.
& BT BRAE 0.0002 —
R L 0.01LLF —

&1, £JE L1, HE0.0~0.0om% /~K7,
2. N.D. & i, & & FRMARRZ2 7T,
3.

. HEEHEEERE AT,
4. O, STEPIFAEDOH R 2RT,
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FAESSY
(ap-4 %) |AlHEK 4-1- 30
[Step2-1 BAE ANUEVOREMNLESHER—ER—30]
= B—HEREAEWE
mmlﬁi@% %Eé‘%% @??ﬁé g NP T KT
S % i i | (m (T.P. m X4 mg/L
*£JE 3.17 mt —
1.0 2.17 11 N.D.
2.0 1.17 3+ 0.0025
2.5 0.67 1+ 0.0050 o
3.0 0.17 £+ 0.0057
ar s |qrsl 0 -0.83 1+ N.D.
5.0 -1.83 1+ N.D.
6.0 -2.83 1+ N.D.
7.0 -3.83 1+ N.D.
8.0 -4.83 11 N.D.
9.0 -5.83 EES N.D.
10.0 -6.83 EES N.D.
& & T RAE 0.0002 —
TS AL 0.01LL F —
&L £IE L1, BE0.0~0.05m% 7R,
2. N.D. &%, E& FRERWZ =T,
3. %, TEERHERAEREIEERT,
" P P ——
som | oL \mte | e | e | w e s
T 5 [ g | (m) (T.P.m) | X%
mg/L
g 3.38 st N.D.
0.5 2.88 mt N.D.
1.0 2.38 At N.D.
2.0 1.38 1+ N.D.
2.2 1.18 3+ N.D. o
3.0 0.38 1+ N.D.
G9 5 |G9-5| 4.0 -0.62 1+ N.D.
5.0 -1.62 1+ N.D.
6.0 -2.62 EES N.D.
7.0 -3.62 EES N.D.
8.0 -4.62 EES N.D.
9.0 -5.62 EES N.D.
10.0 -6.62 EES N.D.
e N RAE 0.0002 —
TS = AL 0.01LL F —

&1 R &,

ZEFE0.0~0.05m% 7R9,
2. N.D. &%, E& FIRERMZ7RT,
3.

(3. B R AR 2R,
4. 0%, STEPIHAEDH R Z 7R,
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ElREET
(&p-4 ) |AlEE 4-1- 31
[Step2-1 BAE ANUEVOREMNLESHER—ER-—31]
=y HfREAEWE
¥+ I [l | (m) (T.P. m X753 mg/L
%% 3.49 %+ N.D.
0.5 2.99 %+ N.D.
1.0 2.49 et N.D.
2.0 1.49 3 4 N.D.
2.5 0.99 #11- N.D. ®
3.0 0.49 1+ N.D.
G10| 6 |G10-6| 4.0 -0.51 IR N.D.
5.0 -1.51 EES N.D.
6.0 -2.51 EES N.D.
7.0 -3.51 EES N.D.
8.0 -4.51 EES N.D.
9.0 -5.51 EES N.D.
10.0 -6.51 EES N.D.
R FIRAE 0.0002 —
BV L 0.01LLF —
51, &KE &1L, %E0.0~0.05m% <7,
2. N.D. &%, && FRERWZ T,
3. IE, A ERMERIREEZRT,
4. 1%, STEPIFAEOHERZ R,
=g s e e e TR
som | oL \mte | e | e | s e T
1 % i s [ (m) (T.P.m) | X%
mg/L
* )= 3.48 %t N.D.
0.5 2.98 %+ N.D.
1.0 2.48 %+ N.D.
2.0 1.48 - N.D.
3.0 0.48 4 4 N.D.
o1l N P Y -0.52 #E 1 N.D.
5.0 -1.52 EES N.D.
6.0 -2.52 EES N.D.
7.0 -3.52 EES N.D.
8.0 -4.52 EES N.D.
9.0 -5.52 EES N.D.
10.0 -6.52 EES N.D.
E & TR A 0.0002 —
e L 0.0124F —

&1, & L 1%, BE0.0~0.0om% "7,

2. N.D. &%, E& FIRERGZR~T,
3. k. HERHERERRE R,
4. 0%, STEPIHEDORE R Z/RT,
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CINESS -
(Ep-4 ) |AllEE 4-1- 32
[Step2-1 AE AN EVORENLESMER—ER—32]
Ev N N EHREAEYE
%ﬁ?ﬁgﬁ?!ﬁﬁ {zi ?fgﬂj %E B AT
mg/L
e 3.47 gt N.D.
0.5 2.97 gt N.D.
0.9 2.57 gt 0.0002
1.0 2.52 H#7 N.D.
2.0 1.52 Hf N.D
3.0 0.52 ## 1 N.D
G11 3 |Gi13al 4.0 -0.48 1 N.D.
5.0 -1.48 #7 1 N.D.
6.0 -2.48 EE-S N.D.
7.0 -3.48 SRS N.D.
8.0 -4.48 EES N.D.
9.0 -5.48 EF:S N.D.
10.0 -6.48 EES N.D.
& BT RRAE 0.0002 —
s AL 0.01LLF —
&1, &g &1, RE0.0~0.06m% "7,
2. N.D. &%, s IR AR 2 3,
3. IE. HERHEEEREZ T,
4. 1%, STEPLIHEDHERZ T,
5. %, 0.5m. 0.9miTG11-3M 70> HERE L 7=,
v o v |y . R A EE
%?fgggffﬁﬁ fﬁg ?i:;g gg' e T A
mg/L
E= 3.55 g+ N.D.
0.5 3.05 g+ N.D.
1.0 2.55 g+ 0.0002
2.0 1.55 ## 1 N.D.
2.5 1.05 HIES N.D. o
3.0 0.55 IR N.D.
G11 5 |G11-5| 4.0 -0.45 HE N.D.
5.0 -1.45 EE:S N.D.
6.0 -2.45 EF:S N.D.
7.0 -3.45 EE:S N.D.
8.0 -4.45 EE:S N.D.
9.0 -5.45 EE:S N.D.
10.0 -6.45 BB N.D.
N RAE 0.0002 —
A H ALY 0.01LLF —

&1 £E L1, RE0.0~0.0om%7/~R7,
2. N.D. L%, @& FREARE ~7,

3.
4. 01X, STEPIHHEOER 2R,

(T, HEEE R ERE R T,
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CINESS -
(&p-4 %) |AllFE 4-1- 33
[Step2-1 AE AN EVORENLESMER—ER—33]
- R EA EYE
Som ﬁig% i %%%f %??%% g N oA
¥+ I i ] (m .P.m X5 mg/L
*B 3.55 &+ N.D.
0.5 3.05 &+ 0.0002
0.8 2.75 &+ 0.0003
1.0 2.55 HE N.D.
2.0 1.55 L N.D.
3.0 0.55 i+ N.D.
G1l1 6 Gl1-6| 4.0 -0.45 H+ N.D.
5.0 -1.45 #1 4 N.D.
6.0 -2.45 EE’S N.D.
7.0 -3.45 EE/S N.D.
8.0 -4.45 EE:S N.D.
9.0 -5.45 EE:S N.D.
10.0 -6.45 EES N.D.
R FRRE 0.0002 —
T AL 0.01LLF —
51, #£J@ &%, WE0.0~0.05m% /"7,
2. N.D. &%, &E& FREARmNEZ =T,
3. I, A EEMERIR AR,
4. 01X, STEPI#HEDHERZ T,
ST R E A S
som ﬁgéé i i%%f ﬁ??gﬁ oy NP AT
T I S (m .P.m X5 mg/L
* B 3.78 &+ N.D.
0.5 3.28 &+ N.D.
1.0 2.78 gt 0.0002
2.0 1.78 LI N.D.
2.7 1.08 #4 N.D. ®
3.0 0.78 #1 4 N.D.
G13 5 |G135| 4.0 -0.22 #1 4 N.D.
5.0 -1.22 EE/S N.D.
6.0 -2.22 EE/S N.D.
7.0 -3.22 EEN N.D.
8.0 -4.22 EE N.D.
9.0 -5.22 EES N.D.
10.0 -6.22 EES N.D.
BT BRAE 0.0002 —
bR L 0.01L4F —

&1, g L 1%, BE0.0~0.05m% <7,
2. N.D. &%, E& FIRERGZR~T,
3.

. HEEHEAERE AT,
4. 0%, STEPIHEDORE R Z/RT,
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eSS
-4 E) AR 4-1-34
[Step2-1 AE AN EVORENLTESMER—ER—34]
o R R
30m ?%fg‘;z% gﬁ% {?EE‘T ﬁ%@% ﬂﬁ/’g’i P WK
¥ - | (m P.m X% me/L
*E 3.22 At —
1.0 2.22 # 1 N.D.
2.0 1.22 i+ N.D.
3.0 0.22 i+ N.D.
4.0 -0.78 1+ N.D. Y
Gi15| 5 |G155| 5.0 -1.78 1 N.D.
6.0 -2.78 EE-S N.D.
7.0 -3.78 EE-S N.D.
8.0 -4.78 EES N.D.
9.0 -5.78 EE'S N.D.
10.0 -6.78 EES N.D.
E & T FRAE 0.0002 —
s e AL 0.01LL F —
HEL £ L3, HE0.0~0.05m% 7R,
2. N.D. &%, & FREARMZ~T,
3. &, TEERHERLERERERT,
S B—HEREAEME
30m ?%fg‘;z% gﬁ% {?EE‘;F ﬁ%@% ﬂﬁ’% P WO KA
¥ - | (m P.m X% me/L
=& 4.21 3 +- N.D.
1.0 3.21 1 N.D.
2.0 2.21 1+ N.D.
3.0 1.21 i+ N.D.
3.5 0.71 38 - N.D. Y
T A 0.21 1 N.D.
5.0 -0.79 # + N.D.
6.0 -1.79 1+ N.D.
7.0 -2.79 i+ N.D.
8.0 -3.79 1+ 0.0002
9.0 -4.79 EES N.D.
10.0 -5.79 EES N.D.
TE & T RAE 0.0002 —
RS R L 0.01LLF —

fF#51. @ &%, %E0.0~0.05m% 7,
2. N.D. & i3, &8 T REARNZ R,

3. I, bR EAYEREIE 2R,
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CINESS -
(ap-4pE)  |AllHFE 4-1- 35
[Step2-1 BAE ANUEVOREMNLESHIER—ER—35]
e L
30m ﬁggé ﬁﬁg i%%f %fﬁ%% t@% P WO KA
- - g | (m P.m P me/L
FB 2.82 H#R A N.D.
1.0 1.82 H#R A N.D.
2.0 0.82 # 1 N.D. o
3.0 -0.18 R A N.D.
4.0 -1.18 R A N.D.
H3 5 |H3-5| 5.0 -2.18 8+ N.D.
6.0 -3.18 #7 N.D.
7.0 -4.18 H#R A N.D.
8.0 -5.18 EE/S N.D.
9.0 -6.18 EES N.D.
10.0 -7.18 EES N.D.
JE i T RRAE 0.0002 —
R L L 0.01LLF —
51 8 L%, HE0.0~0.05m%= =<7,
2. N.D. &%, E& FRERZR~T,
3. I, HEEAEH ESLMERIR AR,
= B—HEREAEDE
Som %E@% e ?%%f %§§%% gl Nt S A
s+ 5 S| (m P.m X5 mglL
*E 4.72 et N.D.
0.5 4.22 gt N.D.
1.0 3.72 gt N.D.
2.0 2.72 &t N.D.
3.0 1.72 ## 1 1.2
3.5 1.22 i+ 0.099 ®
H4 5 |H4-5| 4.0 0.72 # 1 0.0010
5.0 -0.28 H#R 0.0004
6.0 -1.28 H#R A 0.0010
7.0 -2.28 R+ 0.0004
8.0 -3.28 HE A 0.064
9.0 -4.28 R A 0.063
10.0 -5.28 ## 1 N.D.
B T BRAE 0.0002 —
R LR 0.01LLF —

51, &K LI, #E0.0~0.05m% /R,
2. N.D. &%, E& FRERMHEZ =T,
3. I, HEEHERERRA RT,
4. 1%, STEPIHHEDREREZRT,
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ChESS
(ap-4 %) |BlHE 4-1- 36
[Step2-1 BAE ANUEVOREMNLESHER—ER—36]
= B—HEREAEWE
S % i i | (m (T.P. m X4 mg/L
* % 4.74 it —
1.0 3.74 &t —
2.0 2.74 gt —
3.0 1.74 # 1 0.0002
3.5 1.24 i+ 0.0005 ®
s N 4.0 0.74 # N.D.
5.0 -0.26 # N.D.
6.0 -1.26 # - N.D.
7.0 -2.26 #1 4 N.D.
8.0 -3.26 #1 4 N.D.
9.0 -4.26 HE A N.D.
10.0 -5.26 EES N.D.
T i T BRAE 0.0002 —
TS AL 0.01LL F —
51 & & 1X, %E0.0~0.05m% /R T,
2. N.D. &%, E& FRERWZ =T,
3. X, LEEAHELUERIR AR,
o P ————
30m %%igg% | IREC | URIEERE | M - %ﬁfff;%a Hi T K A
%¥~[ﬂg S| (m) (T.P.m) | X%
mg/L
#E 4.76 et N.D.
0.5 4.26 et N.D.
1.0 3.76 gt N.D.
2.0 2.76 gt 0.0010
3.0 1.76 HE A N.D.
3.3 1.46 #i 1 0.0005 o
Hé6 5 |H6-5| 4.0 0.76 3+ 0.0002
5.0 -0.24 i 1 N.D.
6.0 -1.24 H 4 0.0004
7.0 -2.24 # N.D.
8.0 -3.24 #1 4 N.D.
9.0 -4.24 #1 4 N.D.
10.0 -5.24 EES N.D.
E T BRAE 0.0002 —
TS = AL 0.01LL F —

&1 R &,

3. IE, B ENERIRE 2R,
4. 0%, STEPIHAEDH R Z 7R,

ZEFE0.0~0.05m% 7R9,
2. N.D. &%, E& FIRERMZ7RT,
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ChESS
(ap-4 ) |BlHK 4-1- 37
[Step2-1 BAE ANUEVOREMNLESHER—ER—37]

= B—HEREAEDE
3®1%§; %f %% TRECER | S NP T KT
s+ I i g | (m (T.P. m) X753 mg/L

*E 3.32 &t —
1.0 2.32 # 1 0.0004
2.0 1.32 # 1 0.0008 o
3.0 0.32 ## 1 0.035
4.0 -0.68 # 1 0.0007
H7 5 |H7-5| 5.0 -1.68 #7 1 N.D.
6.0 -2.68 #7 1- N.D.
7.0 -3.68 # 1 N.D.
8.0 -4.68 EES N.D.
9.0 -5.68 EEAS N.D.
10.0 -6.68 S N.D.
JE BN RAE 0.0002 —
b 0.01LLF —
&1 KL%, HE0.0~0.05m%Z R~
2. N.D. &%, && FIREARR A 7RT,
3. %, HEAHESMERIR A R,

S - EAEY)E
f”m-égﬁg A | RIS RICERE | - ﬁngim%£ H R H A5
%¥~[ﬂ@ i | (m) (T.P.m) | X%

mg/L
/8 3.35 &+ N.D.
0.5 2.85 &+ N.D.
1.0 2.35 wet N.D.
2.0 1.35 # +- 0.0014 ()
3.0 0.35 #7 +- 0.0024
s A 4.0 -0.65 R N.D.
5.0 -1.65 1 N.D.
6.0 -2.65 # 1 N.D.
7.0 -3.65 ## 1- N.D.
8.0 -4.65 # +- N.D.
9.0 -5.65 R N.D.
10.0 -6.65 EES N.D.
JE & FRRE 0.0002 —
IRV R AR YE 0.01LLF —
51, £ &%, HWE0.0~0.05m% R~

2. N.D. &3, E& T IREANM 2 7R

3. k. HERHERERRE R,
4. Ok, STEPIH#HEDORE R 2/RT,
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CINESS -
(&p-4pE)  |BlHE 4-1- 38
[Step2-1 BAE ANUEVOREMNLESHER—ER—38]
U P o e e o O
& % i 5| (m) (T.P.m) | X%y
mg/L
* % 3.44 &+ —
1.0 2.44 il N.D.
2.0 1.44 #14 0.013
2.3 1.14 HE 0.0047 o
3.0 0.44 e 0.0074
Ho I 4.0 -0.56 H 4 N.D.
5.0 -1.56 # 4 N.D.
6.0 -2.56 #14 N.D.
7.0 -3.56 #1 4 N.D.
8.0 -4.56 #1 4 N.D.
9.0 -5.56 HE A 0.0008
10.0 -6.56 EES 0.0039
T i T BRAE 0.0002 —
A AL E 0.01LLF —
51 & & 1X, %E0.0~0.05m% /R T,
2. N.D. &%, E& FRERWZ =T,
3. X, LEEAHELUERIR AR,
o P ————
30m TEE;% ks WX PRICER Hoje = %ffﬂzim%ﬁ Ho oK
%¥~[ﬂ@ S| (m) (T.P.m) | X%
mg/L
#E 3.51 &+ N.D.
0.5 3.01 &+ N.D.
1.0 2.51 &+ N.D.
2.0 1.51 #1 4 N.D.
2.5 1.01 HE A N.D. ®
3.0 0.51 IS N.D.
Hi1| 5 [H11-5] 4.0 -0.49 RS N.D.
5.0 -1.49 i 1 N.D.
6.0 -2.49 EE:S N.D.
7.0 -3.49 EES N.D.
8.0 -4.49 EE/S N.D.
9.0 -5.49 EE/S N.D.
10.0 -6.49 EES N.D.
E T BRAE 0.0002 —
TS = AL 0.01LL F —

&1 R &,

3.

TREE0.0~0.05m% /<9,
2. N.D. &%, E& FRERWZ =T,
X, BEEAH R ERE AR T,
4. Ox, HOEBEPEME OFEOFE R 277 (E& FERE : 0.001mg/L) .
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CIRESY
(ap-4 ) |AlHEE 4-1- 39
[Step2-1 BAE ANUEVOREMNLESHER—ER—39]
=y B—HEREAEME
Som ﬁig% i %%%f %??%% g N oA
¥+ I i ] (m .P.m X5 mg/L
%)= 3.69 et N.D.
0.5 3.19 et N.D.
1.0 2.69 et N.D.
2.0 1.69 |- 0.0002
2.8 0.89 i+ N.D. o
3.0 0.69 #14- N.D.
H12| 5 |[H125| 4.0 -0.31 1 1- N.D.
5.0 -1.31 HH 4 N.D.
6.0 -2.31 14 N.D.
7.0 -3.31 EES N.D.
8.0 -4.31 EES N.D.
9.0 -5.31 EES N.D.
10.0 -6.31 EES N.D.
T RAE 0.0002 —
VA L YE 0.01LLF —
51, #£J@ &%, WE0.0~0.05m% /"7,
2. N.D. &%, E& FIRMEAMZ R,
3. X, TEEAEMELAERRE RS,
4. 01X, STEPI#HEDHERZ T,
=iy -RREAEYE
som ﬁgéé i i%%f ﬁ??gﬁ oy NP AT
T I S (m .P.m X5 mg/L
%)= 3.75 et N.D.
0.5 3.25 et N.D.
1.0 2.75 et N.D.
2.0 1.75 i+ N.D.
2.8 0.95 # N.D. o
3.0 0.75 # - N.D.
H13| 5 |[H13-5| 4.0 -0.25 IR N.D.
5.0 -1.25 1t N.D.
6.0 -2.25 IR N.D.
7.0 -3.25 EES N.D.
8.0 -4.25 EES N.D.
9.0 -5.25 EES N.D.
10.0 -6.25 EES N.D.
BT BRAE 0.0002 —
bR L 0.01L4F —

&1, g L 1%, BE0.0~0.05m% <7,
2. N.D. &%, E& FIRERGZR~T,

3. k. HERHERERRE R,
4. 0%, STEPIHEDORE R Z/RT,
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DILESS
-4 ® AR 4-1- 40
[Step2-1 BHE <>t > OREHN LRAMTHR— KR —40]
o A
%’? ;;;Z; iﬁ% {?%F ?ﬁ%@ﬁ ﬂé/@i NPy ST
ST e o > mg/L
=8 | 374 | W&k —
1.0 2.74 | Mt —
2.0 174 | mf N.D,
2.8 0.94 |+t N.D. °
3.0 0.74 | #E N.D.
wial s laasl 40 | 026 N.D.
50 | -1.26 | H& N.D,
6.0 | -226 | H& N.D.
70 | 326 | A& N.D.
80 | -426 | H& N.D.
90 | 526 | H% N.D,
100 | 626 | A% N.D.
JE T RAE 0.0002 —
R AL 0.012LF —
51, K& &1, WE0.0~0.05mz 7R~
2. N.D. &3, & & T RREAN 27~ 9
3. IE. HEEHEREREZRT,
S R EAEWE
;g)? BTZ%J‘;% iﬁ% {?%F ﬁ%ﬂfgj g’% NPy AT
R B 7 mg/L,
%8 | 363 | &t E
1.0 2.63 | Mkt -
2.0 163 | mf N.D.
3.0 0.63 |+t N.D. °
40 | -037 |t N.D.
H15| 5 [H155] 5.0 137 | m+ N.D.
6.0 | -237 | HA N.D.
70 | -337 | A& N.D.
80 | -437 | & N.D.
9.0 | 537 | H& N.D.
10.0 637 | HA& N.D.
JE T RAE 0.0002 —
R AL 0.012LF —

fF#51. @ &%, %E0.0~0.05m% 7,
2.
3.

N.D. &3, E& T IRMEAR 2R,
3. HEEE R ERE AR,
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RIMESS
-4 E) AR 4-1- 41
(Step2-1 BBE 24w OREHLEANHR— KR —41]
S P o e L R
som | oL \mte | e | e | w s P
B |y || ) | (RPom) | sy
mg/L
*xJE 4.08 W4 N.D.
1.0 3.08 4 N.D.
2.0 2.08 A N.D.
3.0 1.08 A N.D.
3.5 0.58 A N.D. o
P I . 0.08 1 - N.D.
5.0 -0.92 A N.D.
6.0 -1.92 A N.D.
7.0 -2.92 4 N.D.
8.0 -3.92 A N.D.
9.0 -4.92 HR N.D.
10.0 -5.92 H R N.D.
T B 0.0002 =
L L R 0.01LL F —
fiis1. F£JE &%, #E0.0~0.06m% /R,
2.N.D.& (%, G FIRAA & 7T,
3. . LR A AT
TS s o e L R
30m | oot \onte | e | e | w e T
T 5 [ g (m) (T.P.m) | X%
mg/L
FE 5.00 %+ N.D.
0.5 4.50 &+ 0.0003
1.0 4.00 %+ N.D.
1.8 3.20 B4 0.0002
*E 2.86 i+ N.D.
2.0 3.00 A+ N.D.
14 5 145 3.0 2.00 A 0.0005
4.0 1.00 A 0.0022 o
5.0 0.00 A 0.0004
6.0 -1.00 A 0.0005
7.0 -2.00 A N.D.
8.0 -3.00 A N.D.
9.0 -4.00 SP/S 0.0002
10.0 -5.00 B N.D.
E N RAE 0.0002 —
THA H AL E 0.01LLF —

51 #E L%, BFE0.0~0.05m%E /R,
2.N.D. &%, & FRRMEARRNZ R,
3.

5. DR FITT4-3H R HERIR L 72,

X, HEEHERERR AR T,
4. [0I1%, STEPIHHEDRERZRT,
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UESY
(Ep-4 ) |BlHEE 4-1- 42
[Step2-1 BAE ANUEVOREMNLESHER—ER—42]
= L B—HEREAEDE
%ﬁfﬁgyé ﬁﬁ;?ﬁ% ?f?%ﬁ %%, NP A
ESTTRN e o 7 mg/L
*JE 4.97 %t N.D.
0.5 4.47 %t N.D.
1.0 3.97 1 0.0003
2.0 2.97 % 0.0004
2.5 2.47 A 0.0002
3.0 1.97 1+ 0.0073
14 7 |14-7| 4.0 0.97 1+ 0.090
5.0 -0.03 1+ 0.0003
6.0 -1.03 1+ 0.0003
7.0 -2.03 1+ N.D.
8.0 -3.03 1+ N.D.
9.0 -4.03 1+ N.D.
10.0 -5.03 EES N.D.
i B FRME 0.0002 —
TR LT 0.01LLF —
51, #£E &%, %E0.0~0.05m% R,
2. N.D. &3, E& FIRMERTZ R~T,
3. &, TERHERERRERT,
4. O, STEPI1FHA OfE R4 RT,
s R A ST
%ﬁ?fggé ﬁﬁiii% ﬁf?%? g% P K T
X ] o o 7 mg/L
*JE 5.40 %1 N.D.
0.5 4.90 4 0.0003
1.0 4.40 A 0.0004
2.0 3.40 %1 0.0003
2.3 3.10 %1 0.0003
3.0 2.40 1+ N.D.
14 9 |14-9| 4.0 1.40 1+ N.D.
5.0 0.40 1+ N.D.
6.0 -0.60 1+ N.D.
7.0 -1.60 £ - 0.0004
8.0 -2.60 EES 0.0006
9.0 -3.60 EES 0.0002
10.0 -4.60 EES N.D.
JE BN RAE 0.0002 —
e R 0.01LLF —

&1 &g L%, HE0.0~0.05m%Z =<7,
2. N.D. &%, E& FRERMHE =T,
3.
4. 0%, STEP1

(T HEER R AR 2R,

A DORRETRT,
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ChESS
(Ep-4 ) |AlHE 4-1- 43
[Step2-1 BAE ANUEVOREMNLESHER—ER—43]
. R T
ST e o 7 mg/L
*E 5.29 gt 0.0002
0.5 4.79 gt N.D.
1.0 4.29 &t N.D.
2.0 3.29 gt N.D.
3.0 2.29 # 1 N.D.
. S e 1.29 #7 1 N.D. ()
5.0 0.29 #7 1- 0.0003
6.0 -0.71 # 1 N.D.
7.0 -1.71 # 1 0.0008
8.0 -2.71 1 0.0007
9.0 -3.71 EE-S N.D.
10.0 -4.71 EES N.D.
JE N RAE 0.0002 —
S AL 0.01LL F —
&L KL%, HE0.0~0.05m%Z R,
2. N.D. &%, E& FIRERNZR~T,
3. I, HEEAHELEERIR A R,
4. %, STEPIFHEDRERZ R,
= . B—HEREAEDE
?g;l g?ézf—; i@f {?fn% ﬁ%gj flzﬂ/@i N TR
g | o 7 me/L
*E 3.27 %t -
1.0 2.27 # +- N.D.
2.0 1.27 #7 +- N.D. ()
3.0 0.27 ## 1 N.D.
4.0 -0.73 1 N.D.
17 5 |17-5| 5.0 -1.73 # 1 N.D.
6.0 -2.73 ## 1- N.D.
7.0 -3.73 # +- N.D.
8.0 -4.73 EEZS N.D.
9.0 -5.73 EE2S N.D.
10.0 -6.73 EES N.D.
& T BRAE 0.0002 —
e R 0.01LLF —

51 RE & X,

RE0.0~0.0om% 7 ~"7,
2. N.D. &%, E& FRERMZR~T,
3.

(3. TR EAERE 2R,
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LIUESY
(Ep-4 ) |BlHEK 4-1- 44
[Step2-1 BAE ARV EVORENLTESHTFER—ER—44]
e R =W
ST e o 7 mg/L,
=8 3.39 e+ —
1.0 2.39 Rt —
2.0 1.39 i+ 0.0011 o
3.0 0.39 yi - 0.0005
4.0 -0.61 b N.D.
19| 5 |195| 50 -1.61 TRE N.D.
6.0 -2.61 by |- 0.0003
7.0 -3.61 by |- N.D.
8.0 -4.61 b - N.D.
9.0 -5.61 by - N.D.
10.0 -6.61 B8 N.D.
& & P IRAE 0.0002 —
TR R LT 0.01LL F —
51 8 L%, HE0.0~0.05m%= =<7,
2. N.D. &3, & FREARRmZ~T,
3. X, LERHEREREIEEZ R,
" A S
%gfaiﬁgfﬁf ?ﬁf ﬁf?%ﬁ 2%. T ST
ST e o 7 mg/L
=8 3.56 &t N.D.
0.5 3.06 &t N.D.
1.0 2.56 &t N.D.
2.0 1.56 i+ N.D.
2.5 1.06 i+ N.D. °
3.0 0.56 TEE N.D.
ni| s |15 4.0 -0.44 i - N.D.
5.0 -1.44 S N.D.
6.0 -2.44 22 N.D.
7.0 -3.44 EES N.D.
8.0 -4.44 S N.D.
9.0 -5.44 EES N.D.
10.0 -6.44 S N.D.
B T BRAE 0.0002 —
R LR 0.01LLF —

51, &K LI, #E0.0~0.05m% /R,
2. N.D. &%, E& FRERMHEZ =T,
3. I, HEEHERERRA RT,
4. 1%, STEPIHHEDREREZRT,
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HERH
(ap-4pE)  |BlHE 4-1- 45
[Step2-1 BAE ANUEVOREMNLESHER—ER—45]
S o R
ST e o 7 mg/L
*JE 3.60 %1 N.D.
0.5 3.10 %1 N.D.
1.0 2.60 1 N.D.
2.0 1.60 14 N.D.
3.0 0.60 14 N.D. )
3 O O -0.40 1 - N.D.
5.0 -1.40 1 4- N.D.
6.0 -2.40 #44- N.D.
7.0 -3.40 EES N.D.
8.0 -4.40 EES N.D.
9.0 -5.40 EES N.D.
10.0 -6.40 EES N.D.
R T R 0.0002 —
R L 0.01LLF —
51, #£E@ &%, HWE0.0~0.05m% "7,
2. N.D. &%, E& FREARZ =T,
3. &, TERHEREERRERT,
4. 01X, STEP1I#EDRERZ T,
= MR ER EWE
;g? ﬁfgi‘;é iﬁ% {?%F ﬁ%gj g’% N A
X ] o 7 mg/L
* & 2.81 %+ —
1.0 1.81 w4 —
2.0 0.81 1+ N.D.
2.5 0.31 1+ N.D. o
3.0 -0.19 1 - N.D.
3 I O -1.19 #4- N.D.
5.0 -2.19 EES N.D.
6.0 -3.19 EES N.D.
7.0 -4.19 EES N.D.
8.0 -5.19 EES N.D.
9.0 -6.19 EES N.D.
10.0 -7.19 EES N.D.
E BN RAE 0.0002 —
e R 0.01LLF —

51, g & 1x, WE0.0~0.05m% ~7,
2. N.D. &%, E& FRERMZR~T,
3.

(T, HEERHEAERE 2R,
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DILESS
ax-4 ) [HIHR 4-1- 46
[Step2-1 HE ¥ > OREH LEHHER—KR—46]
o A
%’? ;;%Z; iﬁ% {?Bf ﬁ%@ﬁ ﬂé/@i e AT
ST e o > mg/L
S | 267 | Bt —~
1.0 167 | mt N.D.
2.0 0.67 |+t N.D.
2.5 017 |+t N.D. °
3.0 | -033 |t N.D.
el u liea g0 | 138 [EM N.D.
5.0 | 233 | A& N.D.
60 | -333 | @& N.D.
7.0 | 433 | A% N.D.
80 | -533 | H& N.D.
9.0 | -633 | mH& N.D.
100 | -7.33 | A% N.D.
EH T FRAE 0.0002 -
R AL 0.01LLF —
fii51. &JE &1, REO0.0~0.05m% /"7
2. N.D. &3, EE T IRMEARG 2 7R,
3. I, bR EAEREIE 2R,
S MR EA EWHE
;g);n BTZ%J‘;% iﬁ% {?%F ﬁ%ﬂfgj g’% Py A
S B ” mg/L,
%E | 259 | Wkt —
1.0 159 | mf N.D.
2.0 059 |+t N.D.
30 | 041 [mt N.D. °
40 | 141 | mt N.D.
15| 4 |115-4] 5.0 2.41 | mt N.D.
6.0 | -341 | BA N.D.
70 | 441 | A& N.D.
80 | 541 | HA N.D.
0.0 | -641 | H& N.D.
10.0 741 | A8 N.D.
EH T RAE 0.0002 -
R AL 0.01LLF —

fF#51. @ &%, %E0.0~0.05m% 7,
2. N.D. & i3, &8 T REARNZ R,
3.

3. HEEE R ERE AR,
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eSS
-4 m) AR 4-1- 47
[Step2-1 AE AN EVORENLESMER—ER—47]
o T e
30m ﬁgié aﬁf ?%%f %fﬁ%% tW% P WK
¥ - | (m P.m X% me/L
%) 4.00 1+ N.D.
1.0 3.00 # 1 N.D.
2.0 2.00 4= N.D.
3.0 1.00 i+ N.D. o
4.0 0.00 1+ N.D.
J2 9 |J2-9| 5.0 -1.00 1 N.D.
6.0 -2.00 EE-S N.D.
7.0 -3.00 EE-S N.D.
8.0 -4.00 EES N.D.
9.0 -5.00 EE'S N.D.
10.0 -6.00 EES N.D.
E & T FRAE 0.0002 —
s e AL 0.01LL F —
HEL £ L3, HE0.0~0.05m% 7R,
2. N.D. &3, E& FIRMERTZ =T,
3. &, TEERHERLERERERT,
S B—HEREAEME
3mn1£§% %E;?%% %??%% /g NP T KT
¥ - | (m P.m X% me/L
) 4.08 - N.D.
1.0 3.08 18 4- N.D.
2.0 2.08 18 4- N.D.
3.0 1.08 i+ N.D.
3.5 0.58 1 1 N.D. Y
Is A 0.08 1 N.D.
5.0 -0.92 # + N.D.
6.0 -1.92 EE'S N.D.
7.0 -2.92 EE-S N.D.
8.0 -3.92 EES N.D.
9.0 -4.92 EES N.D.
10.0 -5.92 EES N.D.
TE & T RAE 0.0002 —
RS R L 0.01LLF

fF#51. @ &%, %E0.0~0.05m% 7,
2. N.D. & i3, &8 T REARNZ R,
3. k. HERHERERREZ R,
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ChESS
(Ep-4pE)  |BllHE 4-1- 48
[Step2-1 BAE ANUEVOREMNLESHER—ER—48]
B 55— BT
3mn1£§% %Eéi?% %??%ﬁ HE o SR A3
k& I | (m P.m X5 mglL
= 2.76 H#R A N.D.
1.0 1.76 R A N.D.
2.0 0.76 ## - 0.0015 ®
3.0 -0.24 # 1- 0.0002
4.0 -1.24 # 1 N.D.
J4 5 |J4-5| 5.0 -2.24 RIS N.D.
6.0 -3.24 EEN N.D.
7.0 -4.24 EES N.D.
8.0 -5.24 EES N.D.
9.0 -6.24 EE/S N.D.
10.0 -7.24 EES N.D.
E & T FRAE 0.0002 —
s = AL 0.01LL F —
51, &8 & 1X, %E0.0~0.06m% R,
2. N.D. &%, E& FRERMNZ =T,
3. I, hEEAEHESLMERIR A R,
= N B—HEREAEDE
oo éggé i ?%%f %??gﬁ s e T
1 5 s | (m P.m X453 mg/L
/8 5.58 &+ N.D.
0.5 5.08 gt N.D.
1.0 4.58 gt N.D.
2.0 3.58 gt N.D.
3.0 2.58 &+ N.D.
J5 = |ss 4.0 1.58 8 4 0.0002 o
5.0 0.58 ## 1- 0.0009
6.0 -0.42 #7 1 N.D.
7.0 -1.42 # 1 N.D.
8.0 -2.42 BN N.D.
9.0 -3.42 EEAS N.D.
10.0 -4.42 EES N.D.
JE BN RAE 0.0002 —
B AL 0.01LLF —

&1 &g L%, HE0.0~0.05m%Z R,
2. N.D. L%, & FRREARNZ =T,
3. %, A ESMERIR A R,
4. %, STEPIHHEDREREZ R,
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HERH
(ap-4 ) |AlHEE 4-1- 49
[Step2-1 BAE ANUEVOREMNLESHER—ER—49]
B &R E W
k& I | (m P.m X3 mglL
)3 5.82 %t —
1.0 4.82 %t —
2.0 3.82 %t —
3.0 2.82 %t —
4.0 1.82 #44- N.D. ®
J6 5 |J6-5] 5.0 0.82 $4- 0.0033
6.0 -0.18 14 N.D.
7.0 -1.18 1 - N.D.
8.0 -2.18 1 - N.D.
9.0 -3.18 #44- N.D.
10.0 -4.18 EES N.D.
E & T FRAE 0.0002 —
s = AL 0.01LL F —
51, &g LI, #HE0.0~0.0bm% R,
2. N.D. &%, E& FRERMNZ =T,
3. &, HEREHEAEERLY T,
= N B—HEREAEDE
som éggé i ?%%f %f?ﬁﬁ] s N S A
¥+ 5 #is | (m P.m X5 mg/L
*)3 3.37 %t N.D.
0.5 2.87 %t N.D.
1.0 2.37 1 0.012
2.0 1.37 1 - 0.002 o
3.0 0.37 14 0.057
37 s |g7es 20 -0.63 14 0.012
5.0 -1.63 #414- N.D.
6.0 -2.63 #4 1 N.D.
7.0 -3.63 $4 1 N.D.
8.0 -4.63 EES N.D.
9.0 -5.63 EES N.D.
10.0 -6.63 EES N.D.
JE BN RAE 0.001 —
B AL 0.01LLF —

51, g & 1x, WE0.0~0.05m% ~7,
2. N.D. & i, & FRARRZ R~
3. X, HERHEBEREERREZ T,

4. 0%, HOEBPEERBORAEORI R A7 (ER FRIE : 0.001mg/L)
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eSS
(ap-4 %) |AlHK 4-1- 50
[Step2-1 BAE ANUEVORENLESHER—ER—50]
=y B—HEREAEWE
ESTTAN e o 7 mg/L
e 3.46 i+ N.D.
0.5 2.96 H+ N.D.
1.0 2.46 %+ N.D.
2.0 1.46 11 4- N.D. Y
3.0 0.46 1 4- 0.001
I8 s | gges |40 -0.54 1+ 0.004
5.0 -1.54 3+ 0.001
6.0 -2.54 3+ N.D.
7.0 -3.54 1+ N.D.
8.0 -4.54 EES N.D.
9.0 -5.54 EES N.D.
10.0 -6.54 EES N.D.
& & T RAE 0.001 —
TS AL 0.01LL F —
&L £IE L1, BE0.0~0.05m% 7R,
2. N.D. &%, E& FRERWZ =T,
3. %, TEERHERAEREIEERT,
4. ONE, HOEBEME OFREOR R %277 (E& FRHE : 0.001mg/L) .
Spoln s - o e 2 e FER
som | PH Vs | e | oo | wm —
%?‘[EE Hig | (m) (T.P.m) | X% I
mg
# 8 3.53 + N.D.
0.5 3.03 H+ N.D.
1.0 2.53 - N.D.
2.0 1.53 3+ N.D. Y
3.0 0.53 # + N.D.
Jo I -0.47 3 4- N.D.
5.0 -1.47 1+ N.D.
6.0 -2.47 3+ N.D.
7.0 -3.47 3+ N.D.
8.0 -4.47 EES N.D.
9.0 -5.47 EES N.D.
10.0 -6.47 EES N.D.
E T BRAE 0.001 —
TS = AL 0.01LL F —

&1 R &,

3.

RIE0.0~0.05m% /<7,
2. N.D. &%, E& FRERWZ =T,
X, BEEAH R ERE AR T,
4. Ox, HOEBEPEME OFEOFE R 277 (E& FERE : 0.001mg/L) .
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CIRESY
(&p-4 %) |AlHE 4-1- 51
[Step2-1 BAE ANUEVOREMNLESHER—ER—5H1]
=l gL s e L R
&1 X s [ (m) (T.P.m) | X%
mg/L
%)= 3.69 et N.D.
0.5 3.19 et 0.0003
1.0 2.69 et N.D.
2.0 1.69 4 0.061
2.5 1.19 #14- 0.048 o
3.0 0.69 1 1- 0.0097
J10 5 |J10-5| 4.0 -0.31 1 1- 0.0053
5.0 -1.31 1 1- N.D.
6.0 -2.31 1 1- N.D.
7.0 -3.31 EES N.D.
8.0 -4.31 EES N.D.
9.0 -5.31 EES N.D.
10.0 -6.31 EES N.D.
& T BRAE 0.0002 —
IRV L YE 0.01LF —
51, X L1, HE0.0~0.05m% /R,
2. N.D. & 1%, i B IR 27
3. 1F. HHEMEILERE L R
4. 01X, STEP1IHEDHERZ T,
PN g o s e o O
30m | SN0 \mte | e | e | w éﬁiﬁf%E -
B | Ve [ M| () | (TPom) | X4
mg/L
* )= 3.51 %+ -
1.0 2.51 1 1- N.D.
2.0 1.51 7 +- 0.027
2.5 1.01 4 0.054 o
3.0 0.51 14 0.052
4.0 -0.49 #4- N.D.
J11 5 |dJ11-5
5.0 -1.49 EES N.D.
6.0 -2.49 EES N.D.
7.0 -3.49 EES N.D.
8.0 -4.49 EES N.D.
9.0 -5.49 EES N.D.
10.0 -6.49 EES N.D.
E T BRAE 0.0002 —
A AL E 0.01LLF —

51, £J8 &1,

RE0.0~0.05m%A R,

2. N.D. &%, E& FRERMWZ7RT,
%, R E R EREIE A R,

3.
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ChESS
(&p-4 %) |AllFE 4-1- 52
[Step2-1 BAE ANUEVOREMNLESHER—ER—52]
B 55— BT
30m ézg%‘ﬁﬁ i%% %??gﬁ hd o SR A3
k& I | (m P.m X5 mglL
= 3.74 gt N.D.
0.5 3.24 &+ N.D.
1.0 2.74 gt N.D.
2.0 1.74 # 1- N.D.
3.0 0.74 # 1 N.D. ()
J13 o |agl.d0 -0.26 # 1 N.D.
5.0 -1.26 R A N.D.
6.0 -2.26 EES N.D.
7.0 -3.26 EES N.D.
8.0 -4.26 EE/S N.D.
9.0 -5.26 EE/S N.D.
10.0 -6.26 EES N.D.
JE & TR E 0.0002 —
R AL 0.01LLF —
51, &g LIEL, #E0.0~0.0bm%A R,
2. N.D. &%, E& FRERNZR~T,
3. X, TEEAMEREREE RS,
4. %, STEPIHEDRERZRT,
S MR EAEWE
oom ﬁgéé s i%%f %ﬁ?ﬁ% R IS s A
ks X i | (m .P.m X7 mg/L
* 8 2.54 # 1 N.D.
1.0 1.54 # 1 N.D.
2.0 0.54 ## 1 N.D. o
3.0 -0.46 8 4 N.D.
4.0 -1.46 ## 1- N.D.
K3 5 |K3-5| 5.0 -2.46 EE/S N.D.
6.0 -3.46 /S N.D.
7.0 -4.46 EES N.D.
8.0 -5.46 EEAS N.D.
9.0 -6.46 EEAS 0.0005
10.0 -7.46 EES N.D.
E & T RAE 0.0002 —
g R AL 0.01LL F —

51, &8 & 1x. #E0.0~0.05m% ~7,
2. N.D. &%, E& FERERMZR~T,
3. Ik, HEERHEREERE R,
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ChESS
(&p-4 %) |AllFE 4-1- 53
[Step2-1 HE <> > OREHNLBAHFHR—KR—53]
St & —FEE A Y
30m ﬁig% aﬁf ?%%f %??gﬁ t@% Py WK
#- - i | (m P.m X7 me/L
#/E 2.84 #8 1- N.D.
1.0 1.84 #7 1- 0.0006
2.0 0.84 # 1 0.0003 o
3.0 -0.16 # 1 N.D.
4.0 -1.16 #7 1 N.D.
K5 5 |K5-5| 5.0 -2.16 # 1 N.D.
6.0 -3.16 EEAS N.D.
7.0 -4.16 EES N.D.
8.0 -5.16 S N.D.
9.0 -6.16 /S N.D.
10.0 -7.16 EES N.D.
E & T RAE 0.0002 —
b AL 0.01LL F —
&L KL%, HE0.0~0.05m%Z R,
2. N.D. &%, & & FIRIEARN 2 7R~7,
3. %, HEEAEHELMERIR A R,
= L MR EREWE
som ﬁigg [ ?%%f %??ﬁﬁ s N A
¥+ I [ Hi s m P.m X753 mg/L
* 3 3.50 gt —
1.0 2.50 # 1 N.D.
2.0 1.50 3+ 0.0062 )
3.0 0.50 ## - N.D.
4.0 -0.50 # 1 N.D.
K7 5 |K7-5| 5.0 -1.50 ## +- N.D.
6.0 -2.50 # 1 N.D.
7.0 -3.50 #f 1 N.D.
8.0 -4.50 #7 1 N.D.
9.0 -5.50 # 1 N.D.
10.0 -6.50 EES N.D.
E & FRRE 0.0002 —
IRV R R YE 0.01LLF —

fEE1. £E L1, HE0.0~0.05m% /~K7,
2. N.D. L%, E& FIRMEARZ~T,
3. k. HERHERERRE T,
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CINESS -
(ap-4 %) |BlHK 4-1- 54
[Step2-1 FAE ARUEUORERNLESTHER—ER—5H4]
Ev N N EHREAEYE
;’%0? ﬁgx@% ﬁ% {?:n’; @%ﬂn’;’ TZ@E B AT
mg/L
#E 3.53 &+ N.D.
0.5 3.03 &+ N.D.
0.9 2.63 gt N.D.
1.0 2.53 H#7 N.D.
2.0 1.53 Hf N.D.
3.0 0.53 LIS 0.0005
K8 3 |K83| 4.0 -0.47 LS 0.0004
5.0 -1.47 #7 1 N.D.
6.0 -2.47 IR N.D.
7.0 -3.47 IR N.D.
8.0 -4.47 #7 N.D.
9.0 -5.47 EF:S N.D.
10.0 -6.47 EES N.D.
& BT RRAE 0.0002 —
s AL 0.01LLF —
&1, &g &1, RE0.0~0.06m% "7,
2. N.D. &%, E& FRRERNZR~T,
3. IE. HERHEEEREZ T,
4. 1%, STEPLIHEDHERZ T,
ek | e | o e o RRE A EWE
§§T§§§%~ﬁﬁ {ai ?ﬁgiﬂ g%} NPy R K
(Hy mg/L
& 3.56 &+ N.D.
0.5 3.06 g+ N.D.
0.6 2.96 g+ N.D.
1.0 2.56 1 N.D.
2.0 1.56 ## 1 N.D.
2.2 1.36 HIES N.D. o
K3 = |kss 3.0 0.56 IR N.D.
4.0 -0.44 HE N.D.
5.0 -1.44 HE N.D.
6.0 -2.44 ## 1 N.D.
7.0 -3.44 ## 1 N.D.
8.0 -4.44 EE:S N.D.
9.0 -5.44 EES N.D.
10.0 -6.44 BB N.D.
BT RRAE 0.0002 —
A H ALY 0.01LLF —

51 £E L1, #E0.0~0.05m%E 7,
2. N.D. &%, E& FREARZ =T,

it HEEHERUERE 2 R,

4. 1%, STEPIIAEDORERZ 17,

3.
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UESY
(&p-4p%)  |AlFE 4-1- 55
[Step2-1 BAE AN2EVORERNLESHIER—ER—55]
=y B—HEREAEME
%ﬁfﬁg§§ ﬁﬁ;%ﬁ% %f?%? %%, N oA
ESTTAN e o 7 mg/L
*JE 3.53 e N.D.
0.5 3.03 4 0.0004
1.0 2.53 4 0.0003
1.1 2.43 A N.D.
2.0 1.53 1+ 0.045
3.0 0.53 £+ 0.0004
K8 7 |K8-7| 4.0 -0.47 $# 4 1.1
5.0 -1.47 # 4 0.40
6.0 -2.47 #4- 0.0004
7.0 -3.47 # 4 0.0008
8.0 -4.47 £+ 0.0002
9.0 -5.47 EES 0.0005
10.0 -6.47 EES N.D.
& T RAE 0.0002 —
T HE L 0.01LLF —
51, #£J@ &%, WE0.0~0.05m% /"7,
2.N.D. b3, E& FBRMEARNZ =T,
3. %, TEERHERERRERT,
4. 01X, STEPI#HEDHERZ T,
=y -RREAEYE
ESTTAN e o 7 mg/L
*JE 3.50 %1 N.D.
0.5 3.00 4 0.0003
1.0 2.50 %+ 0.0003
1.4 2.10 PR N.D.
2.0 1.50 $# 4 N.D.
3.0 0.50 #+ 0.057
K8 9 |K8-9| 4.0 -0.50 #+ 0.011
5.0 -1.50 #4- N.D.
6.0 -2.50 # - N.D.
7.0 -3.50 1+ N.D.
8.0 -4.50 EES N.D.
9.0 -5.50 EES N.D.
10.0 -6.50 EES N.D.
JE T FRAE 0.0002 —
bR L 0.01L4F —

&1, g L 1%, BE0.0~0.05m% <7,
2. N.D. &%, E& FIRERGZR~T,
3.

. HEEHEAERE AT,
4. 0%, STEPIHEDORE R Z/RT,
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UESY
(ap-4pE)  |AlFE 4-1- 56
[Step2-1 BAE ANUEVORENLESHIER—ER—56]
B R E T
k& I | (m P.m X3 mglL
*JE 3.45 %1 —
1.0 2.45 1+ N.D.
2.0 1.45 1+ N.D.
2.5 0.95 1+ 0.0003 )
3.0 0.45 1+ 0.010
K9 R -0.55 1+ N.D.
5.0 -1.55 1+ N.D.
6.0 -2.55 1 - N.D.
7.0 -3.55 1 - N.D.
8.0 -4.55 EES N.D.
9.0 -5.55 EES N.D.
10.0 -6.55 EE:S N.D.
TR AE 0.0002 —
TR R L 0.01LLF —
51, &g LIEL, #E0.0~0.0bm%A R,
2. N.D. &3, && FIRMEART A2 =T,
3. &, TERHERERERERT,
Sl BT AEWE
som ?;TE;% e {?EE‘;F ‘*ﬁ%‘?ﬁ o Ny P
- - | (m P.m X% me/L
* )& 3.65 R —
1.0 2.65 1 —
2.0 1.65 1+ N.D.
2.5 1.15 1+ N.D. )
3.0 0.65 1 - 0.0002
Tl B P -0.35 1+ N.D.
5.0 -1.35 1+ N.D.
6.0 -2.35 1+ N.D.
7.0 -3.35 1+ N.D.
8.0 -4.35 EES N.D.
9.0 -5.35 EES N.D.
10.0 -6.35 EES N.D.
E & T RAE 0.0002 —
g R AL 0.01LL F —

&1 &g &3,

(3, R AR 2R,

TRE£0.0~0.05m% 7~
2. N.D. &3, @8 T RIEARG &2 78T
3.
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CAUESY
(ax-4®) AR 4-1- 57
[Step2-1 AE AN EVORENLESMER—ER—57]
=g P o e el R
som | oL \mte | e | e | w s P
%¥~[ﬂﬂ i | (m) (T.P.m) | X4 -
mg
£E 2.50 e N.D.
0.2 2.30 4 N.D.
0.5 2.00 3+ 0.0005
1.0 1.50 £ - 0.0070
2.0 0.50 1 - 0.036
3.0 -0.50 1+ 0.016 o
Ki3| 2 |Ki32| 4.0 -1.50 1+ 0.0003
5.0 -2.50 # N.D.
6.0 -3.50 EEZS N.D.
7.0 -4.50 EEZS N.D.
8.0 -5.50 EES N.D.
9.0 -6.50 EES N.D.
10.0 -7.50 EES N.D.
7 B FIRE 0.0002 —
T HE L 0.01LLF —
51, #£J@ &%, WE0.0~0.05m% /"7,
2. ND. &%, JEf FHMEAM 277
3. 1. CHESHIRLIL R &R,
4. 01X, STEPI#HEDHERZ T,
=g - . s 2 e R
30m | SobL mte | e | vEcEm | s T
¥ I i His | (m) (T.P.m) | X%y I
mg
£IE 2.51 %1 N.D.
0.2 2.31 4 N.D.
0.5 2.01 1+ 0.0007
1.0 1.51 1 - 0.0010
2.0 0.51 1+ 0.010
3.0 -0.49 #+ 0.0009
Ki3| 3 |Ki3-3| 4.0 -1.49 #+ 0.0008
5.0 -2.49 #- N.D.
6.0 -3.49 # - N.D.
7.0 -4.49 EES 0.0010
8.0 -5.49 EES N.D.
9.0 -6.49 EES N.D.
10.0 -7.49 EES N.D.
BT BRAE 0.0002 —
bR L 0.01L4F —

&1, g L 1%, BE0.0~0.05m% <7,
2. N.D. &%, E& FIRERGZR~T,
3.

. HEEHEAERE AT,
4. 0%, STEPIHEDORE R Z/RT,
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HERH
(&p-4p%)  |AllFE 4-1- 58
[Step2-1 BAE ANUEVORENLESHIER—ER—58]
= - s e R
30m | L Vames | vee | m | e D
== I i | (m) (T.P.m) | X4
mg/L
*JE 2.78 £ |- N.D.
1.0 1.78 14 N.D.
2.0 0.78 1 1 N.D.
2.3 0.48 1 4- N.D. ®
3.0 -0.22 EES 0.0005
- s 12540 -1.22 EES 0.0002
5.0 -2.22 EES N.D.
6.0 -3.22 EES N.D.
7.0 -4.22 EES N.D.
8.0 -5.22 EES 0.0009
9.0 -6.22 EES 0.0003
10.0 -7.22 EES 0.39
TR AE 0.0002 —
TR R L 0.01LLF —
51, &g LIEL, #E0.0~0.0bm%A R,
2. N.D. &3, && FIRMEART A2 =T,
3. &, TERHERERERERT,
S ere SN s i SR
30m | oot | nde | e | vREE | w e g
1 I i | (m) (T.P. m) X4y
mg/L
F )@ 2.93 #4 1 N.D.
1.0 1.93 4 4- N.D.
2.0 0.93 $44- N.D.
2.3 0.63 14 N.D. o
3.0 -0.07 14 N.D.
- I -1.07 EES 0.0002
5.0 -2.07 EES N.D.
6.0 -3.07 EES N.D.
7.0 -4.07 EES N.D.
8.0 -5.07 EEN N.D.
9.0 -6.07 EEN 0.0030
10.0 -7.07 EES 0.0002
E & T RAE 0.0002 —
g R AL 0.01LL F —

51, &8 & 1x. #E0.0~0.05m% ~7,
2. N.D. &%, E& FERERMZR~T,
3. Ik, HEERHEREERE R,
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UESY
(ap-4 %) |AllFE 4-1- 59
[Step2-1 BAE ANUEVOREMNLESHER—ER—59]

N R A BT
5mm-§g§§'%§ i%% %??gﬁ ?%% NP KR
¥ X i | (m P.m X5 me/L

* & 2.90 1+ N.D.
1.0 1.90 1+ N.D.
2.0 0.90 1 - N.D.
2.5 0.40 1+ N.D. )
3.0 -0.10 1+ N.D.
- N R -1.10 1+ N.D.
5.0 -2.10 1+ N.D.
6.0 -3.10 1 - N.D.
7.0 -4.10 1 - N.D.
8.0 -5.10 1+ N.D.
9.0 -6.10 1+ N.D.
10.0 -7.10 1+ N.D.
TR AE 0.0002 —
TR R L 0.01LL —
51, &g LIEL, #E0.0~0.0bm%A R,
2. N.D. &3, && FIRMEART A2 =T,
3. &, TERHERERERERT,

Sl BT AEWE
som ?;TE;% e {?EE‘;F ‘*ﬁ%‘?ﬁ o Ny P
- - | (m P.m X% me/L

*J& 2.79 1+ N.D.
1.0 1.79 1+ N.D.
2.0 0.79 1+ N.D.
2.5 0.29 1+ N.D. )
3.0 -0.21 1 - N.D.
. R I -1.21 1+ N.D.
5.0 -2.21 1+ N.D.
6.0 -3.21 1+ N.D.
7.0 -4.21 1+ N.D.
8.0 -5.21 1+ N.D.
9.0 -6.21 1+ N.D.
10.0 -7.21 1+ N.D.
E & T RAE 0.0002 —
g R AL 0.01LL F —

&1 &g &3,

TRE£0.0~0.05m% 7~
2. N.D. &3, @8 T RIEARG &2 78T
3.

(3, R AR 2R,
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LB
(ap-4 %) |AlHK 4-1- 60
[Step2-1 BAE ANUEVOREMNLESHER—ER—60]
= B—HEREAEWE
S % i i | (m (T.P. m X4 mg/L
e 2.94 1+ N.D.
1.0 1.94 11 N.D.
2.0 0.94 3+ N.D.
3.0 -0.06 1+ N.D.
3.5 -0.56 £+ N.D. Y
L6 I -1.06 1+ N.D.
5.0 -2.06 1+ N.D.
6.0 -3.06 1+ N.D.
7.0 -4.06 1+ N.D.
8.0 -5.06 11 N.D.
9.0 -6.06 3+ N.D.
10.0 -7.06 #3+ N.D.
& & T RAE 0.0002 —
TS AL 0.01LL F —
&L £IE L1, BE0.0~0.05m% 7R,
2. N.D. &%, E& FRERWZ =T,
3. %, TEERHERAEREIEERT,
" P P ——
som | PH \anse | e | e | g
fr | P [ () | (RPm) | oy
mg/L
8 3.53 st N.D.
0.5 3.03 mt N.D.
1.0 2.53 At 0.0002
2.0 1.53 1+ N.D.
3.0 0.53 3+ N.D.
3.5 0.03 # + N.D. o
L7 5 |L75| 4.0 -0.47 1+ N.D.
5.0 -1.47 1+ N.D.
6.0 -2.47 1+ N.D.
7.0 -3.47 1+ N.D.
8.0 -4.47 1+ N.D.
9.0 -5.47 1+ N.D.
10.0 -6.47 3+ N.D.
E T BRAE 0.0002 —
TS = AL 0.01LL F —

51, &8 & 1X, %E0.0~0.06m%E /"7,
2. N.D. &%, E& FRERWZ =T,
3. X, HEEAHELUERIR A R,
4. 1%, STEPLIH&EDOFEREZ T,



H 7B AT R EHIE R R T E I 51T D THEEE YL R AR BT B
E Pt
(g4  |AIER 4-1- 61
[Step2-1 AE RUOEUVOREFNLESHKR—ER—61]

30m /gft*ik o - T - %*@%Eiﬁ%%g ‘
oy |0 i I I D AT AT
mg/L
B 3.61 &t N.D.
0.5 3.11 %t N.D.
1.0 2.61 %t N.D.
2.0 1.61 HE A 0.0003
3.0 0.61 H A+ N.D.
3.5 0.11 1+ N.D. o
LS8 5 |L85| 4.0 -0.39 HR N.D.
5.0 -1.39 #R 0.0012
6.0 -2.39 #R 0.0030
7.0 -3.39 HR 0.0012
8.0 -4.39 HE A N.D.
9.0 -5.39 #1 N.D.
10.0 -6.39 B+ N.D.
BT RAE 0.0002 —
iR R AL 0.01LLF —
fif51. &K L%, % E0.0~0.0om% 7~
2. N.D. &%, @& FIREARMZ =T,
3. IE, HEEEHERERRE R,
4. %, STEPI#HAEDHERZRT,
som | P s | e | mems | e e .
30m %[,XEE? ;E% ?:n ) (ﬂ'}.PTnT)J i{gz\ NPy A 5
mg/L
# = 3.54 %+ -
1.0 2.54 HE A N.D.
2.0 1.54 1+ N.D.
3.0 0.54 8 N.D. o
4.0 -0.46 i N.D.
L9 5 |L9-5| 5.0 -1.46 #R N.D.
6.0 -2.46 #R N.D.
7.0 -3.46 HE A 0.0002
8.0 -4.46 H A+ 0.0005
9.0 -5.46 EE:S N.D.
10.0 -6.46 EES N.D.
E & T RAE 0.0002 —
R Y AL 0.01LLF —

&1, #Jg L ix, BFE0.0~0.05m% ~d,
2. N.D. &%, E& FRRERZR~T,
3. Ik, HERHEREERE R,
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ChESS
(Ep-4 ) |AllHE 4-1- 62
[Step2-1 BAE ANUEVOREMNLESHER—ER—62]
S A T
ST e o 7 mg/L
* % 3.56 et N.D.
0.5 3.06 gt N.D.
0.9 2.66 gt N.D.
1.0 2.56 #7 1 N.D.
2.0 1.56 ## 1 N.D.
2.5 1.06 1 0.0004 o
L10 A 3.0 0.56 8 1 0.0003
4.0 -0.44 # 1 0.0004
5.0 -1.44 # 4 0.011
6.0 -2.44 # 1 N.D.
7.0 -3.44 # 1 N.D.
8.0 -4.44 # 1 N.D.
9.0 -5.44 # 4- N.D.
10.0 -6.44 EES N.D.
JE & TR E 0.0002 —
e R L 0.01LLF —
&1 &g L%, HE0.0~0.05m% =<7,
2. N.D. &%, E& FREARMNZ R,
3. I, HEEHERERRART,
4. 01X, STEPI#EDRERZ T,
= B EREWE
;g)? ﬁfg;% iﬁﬁ {(%5 ﬁ%@j g’% N A
X I o o 7 mg/L
8 3.60 A N.D.
0.5 3.10 &t N.D.
1.0 2.60 &+ N.D.
2.0 1.60 8 1 0.004
3.0 0.60 # 1 0.040 o
11 O P . -0.40 # 4 0.026
5.0 -1.40 #7 1- 0.007
6.0 -2.40 # 1 0.001
7.0 -3.40 4 N.D.
8.0 -4.40 3 4 N.D.
9.0 -5.40 EE2S N.D.
10.0 -6.40 EES N.D.
JE BN RAE 0.001 —
e R 0.01LLF —

&1 &g L%, HE0.0~0.05m%Z =<7,
2. N.D. &%, && FIREARR A 7~7,
3. &, HEEEHERERRA T,
4. 0%, HOCBPEME OFAE DR R 2 "4 (E& FIRME : 0.001mg/L) .
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HERH
(ap-4 ) |AlHE 4-1- 63
[Step2-1 AE AN EVORENLESMER—ER—63]
kg R EWE
30m ﬁig% aﬁf ?%%f %??gﬁ t@% Py WK
#- - i | (m P.m X7 me/L
¥ )3 3.70 %t —
1.0 2.70 %t —
2.0 1.70 #44- 0.0007
3.0 0.70 4 4- 0.0004 o
4.0 -0.30 141 0.0018
Li2| 5 |L125| 5.0 -1.30 14 0.0029
6.0 -2.30 14 0.0027
7.0 -3.30 11 N.D.
8.0 -4.30 144 N.D.
9.0 -5.30 #4- N.D.
10.0 -6.30 EES N.D.
TR E 0.0002 —
b AL 0.01LL F —
51, &g &1L, %#E0.0~0.0bm% R,
2. N.D. &%, @& FRERNZ R~
3. &, HEREHEAEREL T,
som | P s | e | e | e e O .
¥ 7 &gg? Wit | (m (TP m) | x4 «m/g;zL/ HUF K
*JE 2.54 %t —
1.0 1.54 14 0.0052
2.0 0.54 14 0.0007 o
3.0 -0.46 11 0.0061
4.0 -1.46 1 - N.D.
L13| 2 |L132| 5.0 -2.46 #14- N.D.
6.0 -3.46 #44- N.D.
7.0 -4.46 $44- N.D.
8.0 -5.46 141 N.D.
9.0 -6.46 EES N.D.
10.0 -7.46 EES N.D.
B T RE 0.0002 —
R L 0.01LLF —

fEE1. £E L1, HE0.0~0.05m% /~K7,
2. N.D. L%, E& FIRMEARZ~T,
3. k. HERHERERRE T,



